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Learning Outcomes ‘ ' h

By the end of this unit, you will be able to:

» read numbers up to 1,000,000 (one million) in
numerails and words.
write numbers up to 1,000,000 (one million) in
numerals and words.
add numbers up to 6-digit numbers
subtract numbers up to 6-digits
multiply numbers, up to 5-digits, by 10, 100, and
1000.
multiply numbers, up to o-digits, by a number up to
3-digits.
divide a number up to o-digits by 10,100 and 1000
divide numbers up to o-digits by a number up to 2-
digits.
solve real-life situations involving operations of
addition, subtraction, multiplication, and division.
identify and-apply a pattern rileto determine -
missing elements-for a given pattern S - " e

identify the pattern-rule of a-given increasing and
decreasing pattern and extend the pattern for the
next three terms _
describe the pattern found in 2 given table or chart,

The minimum distance between the earth and the moon is about
363,104 km and the maximum distance is about 405.696 km. How
will you,write these distances in words?
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| There are about 391,000 types
;--of plants in the worl_d How can
: : m werds‘?

_-'-_ 3

ﬁ-;fTe denete place values we Ieamt that eommes are put after
‘every 3 digits, from the right.

‘We can also denote this by putting spaces after every 3
:diglts from the rrght. For example 391,000 becomes 391 000.

The number 391 000 can be reed as “Three hundred and
nmety-one thousand“

We know that 999,999 is the greatest 6-digit
number. If we add 1 to it, we get one million;
(1,000,000) which is the smallest 7-digit
number. 1,000,000 is the smallest 7-digit
number.

We can write this number with the help of a place value chart as
shown below. ' '

——

Hundred | - Ten

Mﬂhon Theusande _Theusands

Theusande Hundreds Tens Ones

perfect24u.com
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| Hew ‘many hundreds are there in one hundred

How many thousands are there in ene mrllren‘?

theusands7 |

e

The number 1,456,907 in a place value chart is written as:

P

- Millions

We write 1,456,907 it in words as, onem

;. —*‘m_ﬂ-ﬂ_ i

~ Hundred Ten T
Thousands ;_Th‘o_usand Thousand

T _
ef Hundreds

6

4 | 5

i
— S S -_-'I——-.—q—_'

-

=

thousand, nine hundred and seven

4 is at the hundred thousands place, its plaee valae = 4 * 1 000 =400,

fr"'

- Let's write the value and
this number.

—

e N\ L\ | L.

place value of each digit in

L -

illion four hundred and fifty-six

===

IVIVVI'I

1 is at the mrlllons place, its place value 1 x 1 000 000=1 000 000

5is at the ten thousands place its place value 5 3 10 000
B is at the thousands place its place valu.e 6x 1 0”
9 is at the hundreds place, its piace value = 9' X% 1-00--‘

0is at the tens place its place value 0 X 1l =

7 is at the ones place, its place value 7 X 1

JL'

ﬁmﬁ

p'er_i‘é(':t24u.com

S Sbi;eao '

=6000
=900
e

Give flash cards with place value written in numerals aﬂd words. Write a f6wﬂ nbers
on the board and ask the students to write the place value df each drgit |
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Wntlng a number as the sum of the place
value of :ts dtglts is called expanded form

5 is at millions place, so its place value = 5 x 1 ,000,000=

g is at hundred thousands place, so its place value =9 x 100,000
8 is at ten thousands place, so its place value =8 x 10,000

7 is at thousands place, so its place value =7 % 1,000

5 is at hundreds place, so its place value - 5 x 100

5,000,000
900,000

80,000
7,000

500

5.987.516 is read as "five million, nine hundred and eighty-seven thousand,

five hundred and sixteen”.

5.987,516 = 5,000,000 + 900,000 + 80,000 + 7,000 + 500 + 10 + 6

-_K-2 is the 2nd hlghest mountaln in the world It
is Iacated on the Paklstan-Chma border Its
height is 861 100 centimetres.
- a) Write the height in expanded from.
~ b) Write the place value of each digl’[

C) Wnte the helght in words

a Divide the studer
4 $ the value and pla&e value of each dlg:t

IHE

per ect24u

er ts in graups Ask them to make a 7-digit number and write
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Try 1y

- What number am 1?
- | am a 7-digit number. My tens digit is 5.

- My ten thousands digit is 3 less than my tens digit.

-~ My ones digit is the greatest 1-digit even number.

- My thousands digit is 3 times my ten thousands place digit.

1 My greatest place value digit is the sum of my tens digit and my ten

- thousands digit.

| My hundred thousands place digit is the ones digit of the smallest 2-digit
. number. |

~ My hundreds place digit is the product of my tens place digit and my
- hundreds place digit.

1. Write the following numbers in words.

a) 290,014 [T 433458, 41 1~ 6)1,010/009
d) 9,871,653 e)1,252720 7 §2.688.061
g) 1,874,454 h) 6,495,523

2. Write the following numbers in expanded form.

a) 131,441 b) 6,000,900 ¢) 4,949,181
d ) 6,466,456 e) 7,286,019 | f) 9,479,321
g) 8,510,602 h) 1,202,001

perféct24u.com
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3 Match Column A with Column B.

o o
i T et T ]
e S Ty A

4. Write the value and place value of the coloured digits. |
a) 4,545,445 b) 9,846,532 c) 6,782,456 d) 9,080,714
e) 2,997,924 8,425,419 g) 7,817,656 h) 1,701,232

5. According to 2017 census, the population of Islamabad is 1,014,825.

a) Write it in words.
b) Write the place value of each digit.
c) Write it in expanded form.

6. The speed of light in vacuum, is 299,792 kilometres per second.

a) Write it in words. gy |
b) Write the place value of each digit.
c) Write it in expanded form.

=y F _=—rE

perfect24u.com o
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After the construction of new
national hospitals, 40.655
beds were arranged during
first month. In the second

T2 ] | 8,1 AR,

month, 32,263 more beds *7'!._
were arranged. Find the total =
number of beds. :

By adding the numbers 40 655 and 32 263
we can fi nd the total number of beds,

P‘ERFE @FFQ4U

Number of beds in second month

Add 567,098 and 381.940.
ey L5

There are 124,789 Mathematics books and

200,699 English books in a digital library. Find
the total number of books.

B R S A e ___ g

perfect24u.com
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So t0tal number of books = 325, 488
Add 293.109 and 625,834.

“Hth Tth Th H T
O,
®2 0 310
+ 6 2 5_ 8
9 1 8 9
%;___ﬁ_ Soci =5 = *‘
Fmd the sum of the smallest and the
'- greatest 6~dlg;t rnumbers

)- ; - ;' h i )
Su%ﬁ‘rB{t .;.‘- I : '.' = : ' g L1 ".-

During a tree plantatlon campalgn 554 876
trees were planted in March. In April,

263.755 trees were planted. Find:
a) In which month more trees were planted?

b) How many more trees were planted?

|
N
]
J
y
|
o
.:.' I:! .i'.-':]?""'.".-l
y - L %
—
T iR T e ] MHT ¥

' -y
,ﬂ'l'.'..'tl'ﬂﬂ ] Ll 'I| & N

i il ks ——

ag: _-,.‘-:‘ R - - A
-.-...I_I1_|_. i-l. -

a) More trees were planted in march.

b) 291,121 more trees were planted Make'ény- two 6-digit numbers.

| T.hén find their difference.

TR RS @ 2EGR:SALE
- B -,I"'T:E _.._

per ect24



https://www.perfect24u.com/
https://www.perfect24u.com/

A411.COIM

A toy factory manufactured 098,248 toys
out of which 446,719 toys are of plastic.

How many toys are non-plastic toys?

Thus, the number of non-plastic toys = 151529
Subtract 289,344 from 760,862,

Hth TthTh H T O == o ! )
128 00860 Find the difference of the
=289 g g  smallest 6-digit number and the |
o R LA T - greatest 5-digit number. _

i Nl S i e N s )

| “\ Write the digits from 0-9 on the board and ask thesmdentsto make two 6-digit
Hﬁ;: numbers. Ask them to subtract the number. i e
NG : :

- - -l e
g y T r
e P ¥ =
’ b .2
d - o "
& - 5 - =
L I- o ] - |
i i
X e == -
' i
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Exercuse 7.

1. Solve the following.

a) 100,700 + 291,562  b) 417,381 + 309,201 c) 591,727 + 702,929
d) 319,898 + 428,888 ) 766,442 + 611,222 f) 542,001 + 621,416

2. Solve the following.

a) 209,856 — 205,660 b) 788,991 — 206,070 c) 395,108 — 165,439
d) 673,265 — 656,600  e) 686,898 — 333,333 f) 744,762 — 565,656

3. Sadia bought a plot for Rs. 659,814 and another plot for Rs 799,999.

~ Find the total amount she paid for both plots.

4. Amaan has an annual income of Rs. 456,750. He spends Rs 125,295
on the construction of a Masjid. How much money does he have left?

5. Town A has population of 459,814 and town B has population of
325,919. '

a) What is the total population of the two towns?
b) Which-town has-more population and how much?

6. The annual ield of a mango fieldin‘one year is 656, 565 kg. In the
second year, the yleld decreased by 100,984 kg. How much mango
was produced in the second year? '

7. The government built 386,655 houses for the homeless in one year.
The second year 24,521 fewer homes were built than the previous
year. How many houses did the government build in both the years?

8. Fatima has Rs 954,888 in her bank account. If she withdraws
Rs. 135.600 from the bank to buy a laptop. How much money was left

“with her?
9. A factory owner gave Rs. 448,870 as reward to his employees in one
year. In the second year 437,995 rupees were given as reward.
a) What is the total reward was given in both years?
b) What is the total amount given less In second year.
10. Farhan donates Rs. 600,000 to two welfare organizations. If he pays

Rs. 385,990 to one welfare organization, how much does he pay to
the other?

Wb 05

perfect24u.com
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1

If the price of a solar panel is
Rs. 18,250, then find:

a) the price of 10 panels.

- b) the price of 100 panels.

L
Wy

c) the price of 1,000 panels.

i,

.r.i;ahg:'ml -.*-4“‘

' = s /1 B R | - N
‘;“M“—:—JW ﬁh_.‘r a-.-t‘ = y ' y = _. . -
‘ T . —— . =

.....

multlply the pnce of Ghik panel ,000
respectively. _- T '"

= = — —— s

\.

A\
—

S\ (" —

” I
\

price of 10 panels 18,250 x10 = Rs 182.500

price of 100 panels Rs 1,825,000

18,250 x 100

price of 1,000 panels

1
s
0o
N
O
-
X
4
-
)
-

= Rs 18,250,000

When we multiply a whole number by 10,
of the number. —
When we muitiply a whole number by 100, -
right of the number, |

When we multiply a whole number by 1 000 we put three zeros to the
right of the number. | = ;

perfect24u.com
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 Multiply 34,523 by 10,
100 and 1,000. '

—_— = s e

| Flndthe product
a) 100 x 100 = ?
b) 1,0 “0x1.@x10 2=

o B _ ©) 1,000 x «10=7

34.523 x 100 = 3,452,300

34,523 x 1,000 = 34,523,000

Rs '1'02 900 Haw' much =
w1ll 215 such Iaptops |

Ta ﬁnd the pnce of 215 Iaptaps we thl
multiply the oost of 1 IaptOp by 21 5

102,900 x 5
102,900 x 10
102,900 x 200

Thus, the total cost of 215 laptops is Rs. 22,123,500

= N O EORSALE

"-
e =

¥ = r -
— -'i

. i '—'r'.- -

perfect24u.com
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Multiply the greatest 6-digit number by the greatest 2-digit number.
Multiply the greatest 6-digit number by the smallest 3-digit nymber. =

)55

A company buys 185 motorbikes. If
the cost of one bike is Rs. 79,459

what will be the total cost of 185
motor bikes?

To find the cost of 185
bikes, we will multiply
79,459 by 185.

Cost 1 bike

Il
~
(o

I
X

Number of bikes

Thus, the cost of 185 bikes is Rs. 14,699,915
Find the product of 23,678 and 32. Find the product of 60,392 and 425.

e L R
% 3

8
2
47 55 8
¥ 11 0340 =

T 5T a0 s 2568668600
32 x 23,678 = 757,696 425 x 60,392 = 25,666,600

(/'\ Explain the method of multplication of 5 digit numbers by 3-digitnumbers. Ask the students
%c;;?ﬁ ‘o write a few 5-digit and 3-digits numbers on their notebooks and findthe product. =~

perfect24u.com
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Now write one number horizontally
and the other one vertically in grid as
shown in the table.

4 = == I

y 4 N

RE=H-( ],
Now multip digit in-horizontal
grid by every digit in vertical grid one
by one.

Finally add the resulting products

(in blue grids). This will give us the
product of 243 and 21.

4.000 + 800 + 60 + 200 + 40 + 3 =5,103

So, there are 5,103 apple tress
altogether in the farm.

perfect24u.com
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A mask manufacturing factory produced 45 ,000 masks which are to be packed
in boxes of three different sizes. Find the number of boxes reqmred if:

» 10 masks can be packed in small box. S
100 masks can be packed in medium box.
1,000 masks can bed packed in large box.

To ﬁnd the requ:red number of x
we will divide the total number of masks
by 10, 100 and 1,000 respect{vely

Number of small boxes having 10 masks each = 45.000 ~ 10

Number of medlum boxes having 100 masks = 45,000 - 100 = 450

NumbeMIgi‘g‘e?ﬁ?E & ‘Jﬁ?'r?ﬁ U O@M 45

.._-:E- s B

* When we divide a whole number 0 at its ones place by 10, we remove
one zero from the right side of the number. =5 S

* When we divide a whole number 0 at its ones and tens place by 100
we remove two zeros from the right of the number.

* When we divide a whole number having 0 in its ones, tens and

hundreds place by 1,000, we remove three zeros from the right of the : '_"

- number e S e ___ =,

Sy, Explain the method of dividing a 5-digit number ,":_'_' ' the s
(,‘,, I s fo write a few 5-digit numbers which have zeros at thei ne _ M hundre
%> Then ask them to divide these numbers by 10, 1&9@1@"! G-

e N BT A BRI T

perfect24u.com
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- Divide 76,000 by 10, 100 and 1,000.

75 f_jf'o 10 = 7 sao

76,000 - 100 =760
76,000 = 1,000 = 76

l bave saved Rs 16 620 from my

| pocket mﬁney I want to distribute this
'f’*' unt among 12 children. How can
ﬁnd the amount aach chlld w'u get?

[ ﬁnd the ameunt each chsld wnll get
we wﬂl dwade 16 620 by 12 |

- “Quetient
Dividend

Divisor

-I"‘ *"'i— "'- i~ g — — .
— \ O] (EOR:SAFE
i B = et o1 a =

L *ﬁ-w

L _..i"_-
== —I =

per ect24u com
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For Pakistan Day celebrations, 10,125 students

participated from all over the country. If groups of 95
students are to be made, then find-:

a) How many groups can be made?
b) Find the number of un-grouped students.
c) If 720 students cannot participate due to some

reason, then how many groups can be made?

a) To find the number of groups, we will divide 10,125
by 95.

e
1 01

b) If 720 students cannot participate:
1)  We will subtract 720 from 10,125 to find the

students . :
10,125 — 720 = 9,405 |
i) Now we will divide 9 405 by 95 to find the number
of groups |

S0, 99 groups can be made.

T ————————————

L | i e

perfect24u.com
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Divide 45,205 by 74 and find the quotient and remainder.

-'}f';i-?;;: ,205 74 ... -: 0 r &5

quetient = 510 remamder —-_65_

‘When a number is dwlded by
anoiher number, the result is called

: tha quetient and the left over

quanti ked the remainder

Exercise 3 |

1. Multiply the following numbers by 10, 100, 1000.
a)381  b)4,090 c) 97,509 d) 269,472  e) 852,118

2. Divide the following numbers by 10, 100, 1000.
a) 49,000 b) 78,000 c) 65,000 d) 597,000 e) 210,000

3. Solve the following.
a) 624 x 23 b) 2,456 x 90 ) 1,092x 981  d) 78,543 x 49

e) 45,201 x 561  f) 111,256 x 342 g) 790,902 x 643 h) 356,219 x 101

f —
<
‘; : _- 1R £ e
& __-__-_'.‘:_ N U e
w T B A —_ s
g T e r-":.:-—:‘;.-ra?:a
= -

perfect24.om
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~ 4, Solve the following numbers.
440+15 b) 86,449+29 ¢) 32,936+ 36 d) 47,088 +48

~ )36, 26,166+98  g)73,810+11 h)64,454+32
— B.Allyghas Rs. 22;680. She wants to distribute it among 18 people.
* ~ a)How much money will each person get? —
/!_,, b) How much money will be left? | /

6. Omar's monthly income is Rs. 13,582. Find his total income in 3 years.

7. A toy factory manufactures 28,550 toys in 25 days. How many toys will it
manufacture in one day?

8. Hammad bought one laptop, for Rs. 89,710. Find the price of 10 such
laptops.

9. There are 145 boxes of pencils each containing 5 pencils. If 48 boxes have
blue pencils and the rest have red pencils, find:

a) the total-number-of pencils: A1 1 NN
b) the mimberiofredpencils. , | /4L ) L, LIV

-

&

increased his exercise time |
gradually. He exercised for5
minutes on Monady, 7 minutes
ar./ Tuesday and 9 minuteson
‘Wednesday. If he keeps increasing
a8 nesaay PsS InCreasin

Arham has started r:z-xe";rmsmgfHe

- e A My e e
S v
[ 0w L] B o .
J-'f---..,l. b 2

the time in the same manner, for
how many minutes will he exercise
on Thursday? S

perfect24u.com
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First write the given values (duration/minutes) in increasing order.

Monday Tuesday Wednesday Thursday Friday Saturday Sunday

S . s R H

Now try finding out a rule in it. Observe that time is increasing by 2 minutes

everyday.

S0 gD $D

Thus. Arl’%@ E““” %Kﬁf@@@ for 11 minutes on Thursday.

Can you tell How. much fime will be takerf on|Friday, Satutday and sunday?

o =

-
=y

e
o
.
iy
-
i
o

T g
= ":.3‘_.-'--‘. 2 .r,'._."_- e e :. :

~ Add 2to the previous term.

v - ._
g
s =
e ——
P '
. =
‘ -
- e

o
Y
-
M

By adding 2 to the previous term we can get the next term.

The list of number following a specific -ule is called number sequence. The
~umber in the sequence are called terms of the sequence.

1os. Ask each group to make at least 5 pattern 's. Then

R N, AEORISALE

o ] oy =

e I._ln... B
- -

N | ——-, Hl'-i r, _— o

pertect24u.com
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If we look at the terms of this pattern.

. F_ind Its rule.
Find the next three terms.

e = e - - -t i =
n- : - G-l Dl ~— E——— i ) T g e - 5
— b . Ny e ¥ e e G —— R r (o -
X k- - y — = =2 F F ¥ L - = [ e M= F |y S — A = -
= " V- - R N ) S R e ¥ B . B o L
- i Y Y s B . s A e e
o - ' L el Wl I, O O wm BN = " ™ ; =
w ) | m— - . -l— e e R B R v~ o et e y B BN = r . - o =
e T ey L = e L T T e L | =% -
- - —— -I . d- = - il = = r. L - — = . Ik -
a e . = = = e S ' e s iy - ¥ - = - -
- ¥ - - F N |.': e . e s il a - I.-l_ . " ¥
. T - = =
- .
* -

) =
e .-'
-

» e RFECT?Z2

_-
T

*  Findits rule.

* Find the next three terms.

Its a multiplication pattern in which every next number is obtained by
multiplying the previous number by 2.

Rule of the pattern: Multiplying by 2
Next 3 terms = 32, 64 128,

.

i L -_-.—'—"-——-'I—-—_...___________ . ————

-'-——--_-\—I'Fﬂﬂ'"h.-*-‘:-r‘"-_—-—--._._._._____ S -3 : =

_perfect24u.com
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e W gy e =

ik

- Ei

e
1

e

e Find its rule. -
 Find the next three terms.

400,000 40,000 4,000

PERFEGT 248 COM

If we look at the terms of thi t

we get 40,000 and by dividing 40,000 by 10, 000.
It means this is division pattern.
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112]3la|5(6]|7 ) 8 | 9 10| By starting at 10, we can see that
— . | Ppattern is being made in coloured |
11121314 |15|16|17 |18 _1'9 | 20 | poxes, every next number is obtained
28 29 30 by adding 9 to the previous one.
38 |39 |40
47 48 49 50
58 | 59 |60
68 69 70 |
78 179 80 |
88 |89 90 |
98 99 100 3
By starting at 100, we can se€ that
a pattern is being made In
coloured boxes, every next
~umber is obtained by subtracting
11 from the previous one. .

e || @) SEQRISALE
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Consider the following sequence:

.~ 2, 6.8 .12, ...
We c d the position number and term using t ing.
= Position: 1st 2nd 3rd 4th -
Term: 3 6 9 12,

perrectz4au.com
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Exercise 4

1. Identify the rules of this pattern and also find the next three terms
e x ,.-ap--"'"'""""'“m
a) 10, 40,160,640, , ., “
b) 22, 220, 2200, ,
C) 352,176188! ——)  S—————
d) 780,880,980, _  ,
e) 560, 540,520, 500, , ,

e

2. Observe the given hundred chart. Find at least five patterns and identify
the rules of these patterns.

: 0, _:_ m i[_

1| 2| 3 2 4 | 518 L7 |83 910
1218 14 4115 16; | (17 18 19 4 20
| Y i SEA N J{;Eﬁ“ﬁ
21| 22 23| 24 25|26 27 | 28 29 30+
31 | 32 | 33 | 34 | 35 36 | 37 | 38 | 39 | 40
41|42 43 44 45 46 47 | 48 | 49 | 50
51|52 | 53 54 | 55 56 | 57 | 58 | 59 | 60
b
61| 62 63 64 65 66 | 67 68 | 69 70
71172173174 | 75 | 76 | 77 | 78 | 79 | 80
81 | 82 83 | 84 85 86 37ﬂ 88 | 89 | 90
91 | 92 | 93 | 94 95 | 96 | 97 | 98 | 99 | 100
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3 Observe the given tables and find the rules of number the pattern.

100

200
300
400

5000

600

e ng numbers up to 1 000,000
ne mllhan) in numerals and words.

numbers digit

' . subtractmg numbers up to 6-digits

wltiplying numbers, up to 5-digits.
by 10,100, and 1,000.

perfect24u.com

place value
subtraction
division
ascending
table

addition
multiply
pattern
descending
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1. Encircle the correct option.

a) We put commas after every ... digits in numbers. | ,’?

) 2 iy 3 Tiiiya iv) 16
0) The value of 2 in the number 6,985 621 is

i) 2 ii) 20 iii) 200

iv) 2,000
C) In 7,856,211 the digit

Is the thousands place digit.:
1) 2 i) 5 i) 6 iv) 8

d) When we multiply a number by

We put 3 zeros to its right end.

i) 10 ii) 100

e) When we

i) 1,000 Iv) 1

—anumber by 10 we remove a zero from its right.

1) Add i) Subtract i) Multiply Iv) Divide
=—N©, sEOR:SA 97

I -..-..=-

erfe_ct24u.com
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2. Write the following numbers in words.

3) 8,734,123 b) 6,965,129 c) 4,982,009 d) 9,012,011

3. Solve the following.

a) 212,121 + 56,234 b) 18,315 + 102,376 c) 727,191 + 92,921

d) 139,657+ 247,777 e) 532,481 + 100,008 1) 200,454 + 126,654

4. Solve the following.

a) 675,921 - 31,412 b) 986,543 - 65,219 c) 108,761 - 70,021

d) 846,109 - 591,089 ) 865,439 - 761,212 f) 696,349 - 288,888

5. Solve the following.

a) 12,356 x 122 b) 65,781 x 100

d) 837,564 x 519

-~

¢) 262,825:%-522- | 1 |
R J= i : :
6. Solve the following.
a) 66,693 + 33 b) 35,788 + 42 c) 25,111 = 69

d) 28,000 = 1,000 ) 58580 =10 28,104 = 28

7 What are the rules for these patterns? Also find the next three terms of

. each pattern.

a) 50,100,150,200, , z .

b) 180, 165,150,135,
c) 18, 90, 450, 2250, | | .

d) 6,100,000, 610,000, 61,000, ___, =

perfect24u.com
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—_—— —— — -

= — o St e e = i —-d——_-_--q._-—_.__-_._.

Fill in the blanks and complete the pattem

a)10 x =10

“

10 x =100
10 x = 1,000
10 x = 10,000

. There are 768,121 children and 456,789 women in the City. How many
more children are there than the women?

11. The price of a scanner is Rs. 162,900 and the pnce of a laser printer is
Rs. 96,880. Fing:

a) the total price of both items

b) the total price of 15 Scanners and 3 laser printers.

12. 35,288 blogks are-to-be packed in 128 boxés. E?ﬁm R !\‘ﬁ

a) how- many *bfocks are'there iff sach box?"

b) how many blocks will be left?

13. Observe the given tables and find the rules of number the patterns.

perfect24u.com
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&) Learning Outcomes
By the end of this unit you will be able 10:
find HCF of
o two numbers up to 2 - digit numbers
o  three numbers up to 2 - digit numbers
. using prime factorization method and division method
«  find LCM of |
~ two numbers up to 2~ digit numbers
5 three numbers up to 2 - digit numbers
o using prime factorization method and division-method
. solve real life situations invoiving HCF and LCWM.

> Nida wants to grow 12 Roses and 18 jasmine plants in rows in her home garden. If she
wants to plant the same type of plants in one row, find the maximum number of plants
that can be grown in one row. :

perfect24u.com
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Ieﬂgth wnh né
great&et pOS:S

)
—.

Prime factorization-of 18
Prime factorization of 24

.J.:‘LI

TN
7f
« P o

common prime factors of 18 and 24 - 2 3
product of 2 and 3

Give ropes of different lengths to the smdenﬁ
$1n equal lengths.

NO -EOR:SALE —— 31

'-I E':--". ‘my pey =<

‘.?_-. -:". - 5 -
y o = .'i- - - — S

__-I_:'l. -"-.

perfect24u.com
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Prime factorization of 12 = )% 2 x 3

Prime factorization of 30 = (ix 3 x5

Prime factorization of 44 = (2x 2 x 11

Common prime factors =2

HCF = 2

Hammad has 36 red pencils and 54 blue
. He Iants to- Hut his pencils in

" 1 Divide the greater number 54 by the smaller number 36

~and find the remainder, Which is 18.
> Divide 36 by the remainder 18.
3. We will get zero as the remainder.

) 38
@)

2
36
___6_

4. The last divisor is 18. So, it is the HCF of 36 and 54.

e
fl'|__'.._—_l. o
lﬁ?_‘,:;.'-:-*._.

perfect24u com



https://www.perfect24u.com/
https://www.perfect24u.com/

— L

HCF of 36 and 54 = 18

1R el s bl 1l el ille il dl il el & |

B i b Bi

PRIl =

First divide the greatest number 60 by 48.

aL L [ P T T L Y

1
48y 60
-48 4
(j) ) 48
—48

0

HCF of 48 and 60 IS 12.

P R EOTSblhE OM
DYt

completely divides 26, 48 and 60

perfect24u.com
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T T
K,

Exercise 1 &~

1. Find the HCF of the following numbers Dy using prime factorization method.

a) 58, 72 | b) 21, 48 c) 56, 70 d)45,90

e) 42, 49 f) 15, 18, 56 g) 42, 54, 64 h) 18, 30, 90

i) 12, 24, 36 i) 18, 36, 76 k) 5, 35, 40 )13, 52,78
2 Find the HCF of the following numbers by using division method.

a) 13, 65 b) 25, 79 c) 42, 98 d) 16, 20, 70

e) 56, 84, 88 f) 57, 76, 95 g) 16, 32, 96 h) 20, 40, 80

i) 48, 76, 96 j) 24, 48, 72 k) 51, 65, 75 )13, 39, 78

3 The lengths of the two ropes is 24 meters and 14 meters. If Ali wants to

4.

9.

6.

cut the ropes into pieces of equal length without any rope left. What will

be the maximum length/of each piece?

For the Independence Day celebrations, 52
students in white, 65 students in green and 39

students in blue dresses are to be arranged In
equal rows in such a way that students of same

colour dress are in each row. What is the
greatest number of students that could be in

each row?

Find the greatest number that divides 16, 24 and 48 completely.

Ibrahim and Marwa are preparing first aid kits for the
students. They have 30 perforated adhesive bandages, 60

triangular bandages and 75 rectangular bandages. They
must distribute these equally in the Kits, with nothing left
over. What is the greatest number of kits they can make

with this quantity of bandages”?

perfect24u.com
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For a Science project Preparation,
grade 4 students visit the science
laboratory after every 8 days.
While grade 5 students visit
laboratory after every 12 days. If
Students of both grades visited

- Multiples of 12 gre- 1'2,@ 36,@...-

The first two common Multiples of 8 and 12 are 24
| -

E e s
e o s e O
s calle mmon multiple of 8 and 12, |

Thus, students of both grade will visit the la_bo‘ratory:together aﬂer 24 st
days. - S - o seis AR

- it f L
: v - X t i
F J -+ 3 ¥ 3 .} _' a =
e e e S T S S T & e S i - -

_.'.."":--_-:-r -\.I-." el e r' = = _ .-"'.-'- | _-1 :__- -~ --: :"..._‘_ 5 L—-
=, - ‘..- O . 5 R - = . - . - ™ r -, e T 4 '3 q
UIeir prodr Ct 1S Cca I -
___._l - = — e - " 4._-,‘ i 5 — - =,

hatnumbe, e

=
- o
5 =
o e
=
- =
]
.

,fn - Write pairs of numbers on the board. Ask th
k"'?}g,  of these numbers. 1
HING?

perfect24u.com
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Prime factorization of 8 N %X%X 2 |

Prime factorization of 12 = (Dx2)x 3
and12 = 2% 2 = 4.

Product Common prime factors of 8
prime factors of 8and 12 =

ctors x product of non-commaon

Product of Non-common

LCM= product of common prime fa
prime factors

i - 1] e
T = e L ; - :
o = ~re = -__1 - —
- ] e T —- - . e
™ - - T30 § 6
h - ﬂl'_. L - [

g o~ - = E
LCM =4x6 S A
X = b el 4,
" ] ' 1 -] ' '- i = 1
E 1 L2 A Fh - Ll - 3 L-'-‘-‘ ", — oh{-r = g o 0 L
= & e S E e iy
T = J;;.-_-‘ = ST R e
e e g " - ' o] -
. y I 5 -
s b =1 i 8 1 i8S
1 B I r Ll = -
d— | | > - = - i i-""" 3 ra T =L .F
—T = - E - - i e - - po il —4-.- o
| " - - = il _\._'_'; - - 4 _-...
- . = b = Fie il I _.r-r_- g
ven nuti Ee | '
- ' ] i il = E=1 4 i F N : l_. r_ L - .: -
= A e S = =T e TR, M e o
- - - u - - o = =

oth grades Visit the laboratory together after 24

So, the next time students of b
days.
Let's find out the

L CM of 16,30 and 64 using prime factorization

p

(2

Prime factorization of 16 = @x@ x (2)%(2)
— ®><5 X 3
@x@x@@ZXZ
2% 2x2=16

ctors of 16, 30 and 64 = Zx

Prime factorization of 30
Prime factorization of 64 =

Product of common prime fa

perfect24u.om
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:lg Ahmad and Umarexerelse after :e_very 10
18 and 20 days respectively. If they alf are,

_ perfect24u.com
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i ——————————EEEE

Find the LCM of 12, 20 an

d 30 using the division method.

2 | 12, 20, 30
2 6, 10, 19
3
9

3, 5, 15

-

NO 2EORSALE

perfect24u.com
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g numbers using division.

a) 14, 70 b) 15, 30 c) 45, 90 d) 35, 60, 75
e) 7, 21, 49 f) 25, 45 95 g) 16, 32 48 h) 28, 32 40
) 12, 14, 26

* finding HCF of

* tWo numbers up to 2 - digit Numbers

* three numbérs up to 2 - digit numbers

using prime factorization method and divisjon method

—— NIRRT o

!
S b T

keglrie
perfect24u.com
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__.Hll. 1 N R



https://www.perfect24u.com/
https://www.perfect24u.com/

ﬁndmg LCM of

. two numbers up to 2 - digit numbers
bers

HCF | primefacorization

. three numbers up to 2 - digit num prime multiples

~ using prime factorization method and factors

LCM

dwnsnon method

> solvmg real life situations involving HCF

and LCM

Review Exercise =g

i) 1,000 ii) 100 i) 10 iv) 1
c) Prime factorization of 1618 ____——
i)2x8 i) 1 x 16 u|)2><2><2><2 V)2 x 4 x 2
d) The LCM of 33, 66 and 81 1S o
i) 1,770 i) 1,872 iii) 1,782 iv) 1,287
two or more prime numbers is always equal to their :

i) LCM iv) Product

P P U |
R I T e il ™ L = - b o 1 n i
L T = F L
40 N©, FOR:SALE
e L' e \ '. .

S e el i

= — '-":',_ L =
= o e

perfect24u.com


https://www.perfect24u.com/
https://www.perfect24u.com/

8.Find the Smallest number

without leaving any remain

Rﬁuglﬁ s |
- ——— ey T I

- | "
v = "--u- E =
= 5 ‘-n. = R

perfect24u.com
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you will be able to:

By the end of this unit
r three fractions W

ith different denominators.

add and subtract two O
monstrate with the help of

- digit numbers and de

diagram
. multiply two or thre

e fractions involving proper, improper fractions, and mixed

numbers.
of fractions.

g multiplication
proper fraction, and

e situations involvin
n involving proper, im

« solve real lif
. divide a fraction by another fractio

mixed numbers.
real life situations in

=
.

solve volving division of fractions.

B = v
.....

.....

= 8

perfect24u.com
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2 v
Time spent yesterday "

Time spent today

—"

— . perfect24u.com
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{ C.M.of5,10,20 = 2% 2% 5

that the denominators

ultiply all the fractions with a number. SO

qual to the L.C.M.

Step 11 M

perfect24u.com
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o

e

LN

N Sidra used

ction

gth of the ribbo

The totg| len
Subtrac

on of Fra

ti

antity of tea from the quantity of sugar

To find this, we wil Subtract the qu

.com

perfect24u
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Quantity of sugar =

Difference

A

2

1

Quantity of tea =%
=

2

1

So, Sara use

2
Subtract %— from 2 3

d 1 more spoons of sugar than tea.

‘|
1

perfect24u.com
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' ' 8 ' —%—- metres and 2 —15-

5. An electrician has 18 9 metres of wire. If he use

in two rooms, calculate:

metres |
a) How much wire did he use”?

b) How much wire does he have left?

Ibrahim takes -%— hou
0€es he spend on his homew

How much_ time d

perfect24u.com "
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_ ster a week, the height of gania's plant is

' ' nts in pots. A § |
o e F')‘a i's plant is 1 1_times that of Sanias plant. Find
9.2 cm while the height of Ali's pia A

5 .
the height of Ali's plant.

+2 om o AL
Height of Sania's plant = 375 g
| ' 17 5ok
Height of Ali's plant = —5---x1 A
: e x—l’g— cm
e
| s U %, 1 |
Eiq x4
PERFEECT24U.COM
= 4..:‘_- cm |
Height of Ali's plant = 4

perfect24u.com
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The number of
glasses filleq _1_
3 Dy water 7—%-_ ¢ =22 glasses

| will need 22 glasses to fij| 7

-?31.._. ¢ of water

----
_-._-..: ARl ot

." | ‘ . | perfect24u.com
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How many pieces of —2_metres of wire can be cut from a wire which is -2

metres long?

10 _ 5

Total length of wire = %
: 4
Length of 1 piece = 'ﬁ
: o Ol o
Number of pieces = T
8 10
N b ' = 2 —— s
umber of pieces % 3
g g 2
= o 1

Thus, the nurp v
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Exercise 2

1. Solve the following with help of figure.

o). %12 b) % ? 6) 2 x3

d) %x4 e) %-xS f) —g—xg
2. Multiply the following.
a) %“% b)%x“}g‘ c)-'-g—x-—;%-
2 Bp8 ottt il
o) 15 x2xdsy B SreexBopxd—r ) Sogx0—x5-
3. Divide the following. It el e Y

) 47 g Y ot 0 =+

% 2%3"+4§% °) 5%-—9% f) s—g-g—-:-?%

9)22:4% h)B;:'g ) %_2_5_

4, If5-;—metres of cloth is used to stitch one dress, how much cloth will be used

to stitch 7 dresses?

5. Hina ate —%- of a cake. If there were 8 pieces of cake, how many pieces

did Hina eat?
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6. Nida had % of a pizza. She gave %of it to her friend, Madeeha.
Find what part of the whole pizza did Madeeha get?

7. To decorate the classroom, Hassan used ribbons in two colours. The
length of the blue ribbon is 5% metres. The length of red ribbon is _%. of
the length of the blue ribbon.

a) What is the length of red ribbon?

b) Find the total length of both ribbons.

3. Find the number which results in 4 2 when multiplied byﬁl.

9 6

44—;— kilograms of sugar is to be packed in 4 3 > kilograms packets. Find:
a) In how many packets sugar will be packed?
b) How much sugar will be there in 9 packets of mass 4 152 Kilograms?

L] - B N = -

frac&ims WTth dtﬂ’erent denommators
e mﬂmplylng a fraction by a 1 - digit

L ﬂumhers and demonstrate with the

fraction
fractions

numerator
denominator
equivalent fractions

5 help of diagram

. | mu[ﬁptpng two or three fractions
_involving proper, improper fractions, and mixed numbers.

. :iéﬂhﬁﬂg real life situations involving multiplication of fractions.

- -'dMﬂmg a fraction by another fraction involving proper, improper fraction,
o i v ﬁ;__",'__'_'._ numbars

i NG, 2EOR:SALE
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1. Encircle the correct option, and fill in the blanks, where appropriate.

e -2
a} 3 ’ 5 s
) % i % il % v) 125
5 2=
b) 3 B e
os g Y 4 R : 7
1) 9 i) 5 i) 5 iv) 5
c) The product 3 and 2 s
4 3
) 1,000 i) 10 i) 1 iv) 111
d) Which figure is showing 5 x —

SR T ¥ 8
'"666 %9@@@@
| ) When changing the order of the fractions will not
affect the result.
1) adding and subtracting i) subtracting and dividing e
i) multiplying and dividing Iv) adding and multiplying :
2. Solve the following.
7 3 8 19 4 14 5 i =
) 207470 ) 5 t3stS3g 935 -2
o e 6, 62 4,153 8
V12T T Ty e f’
NG AEORBALE B

I'i:.- # =1

—.-I
=

per ect24u corr
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mmum

=0 3 3 | 1

" 3 Find 2-% of 36.
4. How many months will there be in &t of a year?

4

5. Add the product of L3 and 12 to the quotient of 323 %-

S 2 45

6. Marwa prepared 5%Iitres of apple juice. She served 3—:- litres of juice
to the guests. Find out how much juice is left? -

7. Ali's mother bought 3%— kg of chicken,1 % kg of fish and 2% kg of mutton.

Calculate, how many kilograms of meat she bought, altogether?

8. Omeir ex-ércises for 2 % hours daily. How many hours will he exercise

in 30 days?
: -—-_I - %aﬂ- ‘-¢.'—~ . : 7 D -_ ‘ ____: C
s 9 The leiwgtmgf,& smie of a square is 1?meters IV

If the perimeter of square is 4 x length of a side,
calculate the perimeter of the square. Also, verify your

‘answer by adding this length four times. B7
- Length = 1 ? m
~10. The area of a room is 209 118 m". If the length
‘ of the room is 17 % m, find the width of the
room.

The area of the room is calculated
L by multiplying its length and width.

perect24u.com
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By the end of this unit you will bé able to:
compare numbers up to 3 - digit with 2 decimal places using signs <, > or =.
arrange numbers up to 3 - digit numbers with 2 decimal places in ascending and descending order.
add and subtract 4 - digit numbers up to 3 - decimal places.
multiply a 3 - digit number up to 2 decimal places by 10, 100, and 1,000.

multiply a 3 - digit number up to 2 decimal places by a whole number up to 2 - digit.

multiply a 3 - digit number up to 2 decimal places by a 3 - digit number up to 2 decimal places.
divide a 3 - digit number up to 2 decimal places by 10, 100,and 1,000.
divide a 3 - dlgll numbers up to 2 Mmqt 5 |

PERT
I _..1‘ :t'.!

baL lo 2 decnnal places.

ﬂ,;a naam$t tenth or hundredth.

= "'--*'rmnduffautt dxg-tnumgp 0 3 - decimal ple
¥ =4 ~ {- .f"'l-.r

. .. ;'--. Esﬂmatﬂmw d iffer |- 3 -r]_ '-__i'.'“r_.!. Bﬁ"l'@ o hmjﬂ«_

-
L

14T .':L i"._ I'E" "

& 15,_:*

501!?9 rﬁlilﬂ Sﬂuailﬂﬂ&

Bt o

pertectZ24u.cem
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1. Start comparing the digits from left to right.

2. Here the digits at ones and tenths place are equal.
3. At hundredths place, digit 8 is greater than digit 3.
8>3 |

4. Therefore 2.58 is greater than 2.53

2.58 >2.53

Thus, Noor used the longer rope.

Let's compar and 7.09.

1. 7.1 and 7.09 both have the same ones
place digits.

2. At tenths place, digit 0 is smaller than
digit 1. =—

3. So, 7.09 < 7.1 el

perieciZ4u.com
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411.COM
ara bought some fruits and their masses are shown below. Compare their

masses and write them in order.

2. The digit at ones place of 3.5 is the greatest. Therefore, the guava has the
greatest mass.

3. Next 2.75 and 2.00 have same digit at ones place.

5. After the guavas, apples have the greatest mass i.e 2.75 kg.

6. After guavas and apples, peaches have the greater mass which is 2 kg.

7. The grapes have the least mass which is 1.25 kg.

perfect24u.com
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1.COI]
y using symbols. We can write the masses as:

nd

Try It ﬂ

Put decimals points at diffterent places in the given number and
~ arrange the decimals in order.

999, 463, 208, 175

Exercise 1 -8 -

1- Comp wEoﬁEEr@ u&in}i@e&éq Qm@@%r -

2) 0.4 b) 1.3 16 c) 34.56 35.66
d)6.67____\ e) 0.45 0.45 f) 2312___ 51.31
g)71.2 71.02 h) 6.06 6.1 i) 4.8 4.80

2. Write the following decimals in descending order.

a) 2.51, 3.31, 2.47, 3.81, 3.01 b) 4.32, 4.68, 0.31, 4.23, 4.31
c) 6.21,6.77, 6.31, 6.33, 6.60 - d) 1.62, 1.03, 1.60, 1.66, 1.61

3. Write the following decimals in ascending order: .
a) 7.2,12.4, 10.8, 9.4, 18.2 b) 8.56, 8.06, 8.5, 8.52, 8.51, 8.05
¢) 3.4, 3.54, 3.55, 3.45, 3.14, 3.04 d) 9.5, 9.05, 9.52, 9.55, 9.09, 9.45

(O 2EGRISA
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To find the total distance in kilometers,
we need to add both the distances.

Distance covered in the morning

Distance Covered in the evening
Total distance covered

Thus, Hassén covered-3.68 km aﬁogéﬁei;: 4:" }._
Add 4.463 and 3.24.

| LA—. o) 11_:"!':‘._": o e

1 :: v -_I,. . "'J"__ T b e | .-"_-:..-"' ™
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A newborn giraffe is about 1.8 metres

tall and an adult giraffe is about 5.5

metres tall. Find the difference in their
heights.

Height of adult giraffe
Height of newborn giraffe
Difference in their heights

Thus, the difference between their heights is 3.7m

To make two decimal places equal, we put zero at a place holder at the
hundredths and thousandths places.
9.9 =9.900

e e
%a
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r g j jits after ~ Write a decimal number
; ot | in the given box such
that the sum of both

sides of the scale
becomes equal and the
scale remains balanced. |

1. Solve the following.

b) 3.211 + 1.860

c) 3.2‘f1 + 89.02

| a)4.131 + 8.3
d) 2.001 + 75.46 e)47.04 + 5.007 f) 2.341 + 5914
| g) 1.781 + 9.111 h) 1.194 + 3.876 1) 3.562 + 1.210
j) 1.831 + 21.24 k) 5.008 + 30.44 I) 69.25 + 3.100
2. Solve the following.
a) 9.410 — 2.392 b) 11.45 - 2.86 c) 3.238 — 2.376
d) 6.188 — 2.109 e) 3.80 — 3.09 f) 56.341 — 2.864
g) 6.554 — 1,309 h) 5.555 — 4.201 1) 1.999 — 1.088
j) 2.018 — 1.740 k) 4.99 — 3.400 ) 12.34 — 11.90

3. Rohan spent Rs. 65.33 on Monday and Rs. 97.29 on Tuesday. What
amount did he spend in two days?

NG, EORSALE
- -
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4. Muaaz covered a distance of 76.36 km in a car and 55.45 km in train to
meet his grandmother. How mach more distance did he cover in train?
5. Saad ran 5.13 kilometres on first day and 2.33 km on the second day. Find

the total distance he covered in both days. .
6. A tailor had 15.25 metres cloth. He used 11.55 metres cloth in stitching two

dresses. How much cloth is left with him?
7 Nida needs 50.55 gram sugar for a cake and 28.5 gram sugar for a few

cupcakes.
a) How much sugar does she need altogether?
b) which item requires more sugar and how much more?

pertect24u.com
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Thickness of 10 pieces
Thickness of 100 pieces
Thickness of 1,000 pieces

Thickness of all the pieces together

.
=t

T
(j:% & ﬁ§$ }
AR o
Capacity ofonepack =1 . 5 Rgecinal s
Number of packs R et 3% o S
Total capaci =108
S = >

The capacity of 7 packs is 10.5 .

O, 2F O RS Al e SR B
perfect24u.com
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A bus covers a distance of 9.85 kilometres
going from one town to another and then
coming back. If it takes 56 such rounds in a
week, find the total distance it covers.

- I- -

Tﬂﬁndmm wawﬂi mamplygaﬁmth 56

*fj? ,..-:f? EE?&E‘ |

iR g |

Distance between the towns H o /8 5__,20dpidecima gt t|
Number of rounds = X 5 6 |
5 9 1 0 (985x6) ¢y

+4 9 2 50 (985.}<50) |

Total distance covered =585 5. 1 6 0= 2

2dp |

So, the tﬂ@ﬁ%‘f@‘bﬂs wgék %51.;,6[?’ Km. )\ f L

Asma measured the

length and width of the

carpet in her room. She 2.45m
wants to find area
covered by carpet.
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Length of the carpet
Width of the carpet

9
4
1 9 5 o
15 6 4 (391 x 40) o
+.7 820 (391 x 200) - hhe |
Areaofthecarpet = 9 . 5 7 9 el
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1. First colour 0.2 blue, vertically. It means we have coloured two tenths or 2
out of 10 columns in blue.

2. Next colour 0.4 horizontally, yellow. It means we have coloured four tenths
or 4 out of 10 rows yellow.

3. Now the portion of the grid covered by both yellow and blue colours
represents the product of 0.2 and 0.4. We have represented this portion in
green .

We can see that it out of hundred squares are green, so the product of 0.4

and 0.2 is 0.08.

0.08

0.2

0.2 x 0.4 = 0.08

e

- Make at least three pairs of 3-digit decimals with two decimal places that
- give pmduct with 1, 2 and 3 decimal places, respectively. Verify your

perrectZa4u.com
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1.Solve the following.

a)1.59 x 10
d) 5.43 x 100
g) 3.54 x 100
j)4.72 x 10

2.Solve the following.

a) 5.36 x 82
d) 3.54 x 18
g) 2.51 x 89
1) 9.17 x 11

3.Solve the following.

a) 5.36 x2:5

d)4.65 x 39.7

g) 1.42 x 8.89
j)9.28 x 2.22

Exercise 3

b) 2.48 x 100
e) 3.03 x 100
h) 8.73 x 10

k) 3.42 x 1,000

b) 1.71 x 12

e)1.23 x2

h) 3.05 x 80

k) 2.50 x 43
9282423 (

e) 2. 66 x 5:_02 :

h)4.16 x 1.87

k) 3.19 x 6.98

g X

c)4. 37 x 1,000
f) 3.06 x 1,000
i) 3.103 x 100
) 2.44 x 100

c)4.91 x 34
f) 549 x 23
) 1.46 x 61
) 4.13 x 86

) 18)5.82x5.34

>
=

f) 6.38 x 2.12
) 2.57 x 2.54
1) 5.24 x 7.23

4. Atrain travels 96.5 kilometers in an hour. How far will the train travel in 25

hours?

5. 25.5 meters of fabric is required to make a sofa cover. How many meters of

fabric is needed to make:

a) 10 covers
b) 100 covers
c) 1,000 covers

6. A cement block weighs 4.23 kg. What will be the weight of 12 blocks?
7. The price of one liter of petrol is Rs. 103.8. What will be the price of 35 liters

of petrol?

NG, 2EORSALE
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= 8.28 cm

' ire is 8.28 cm
So. the length of each piece of wire is 8.2

Divide 4.73 by 10, 100 and 1,000.
47310 =

T _I'I o h— P ]
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Total Quantity of rice
Number of Packets

Rice in €ach packet
= 7.75+5

| RS :-.‘*
55 kg i G

| S

The quantity of rice jn each packet js 1

Faraz reag 49.5 Pages of a book iny
Pages he reaq jn #_;éur: ‘

Number of pages

Number of hours

_ _ perfect24u.com
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Division of Decimals by Decimals

7o find the number of boxes required, we will divide 135 by 1.5. Wewill
convert the decimals into fractions and divide it.

Quantity of sugar = 13.5kg

Quantity of sugar in each box = 1.5kg

Number of boxes = 135+ 1.5

_j85 15

10 101

_ 135 A0
10

X
15
_ 135
45 ot
are required to pack this sugar.

4.COM

Thus, 9 boxes

B
=1.2

perfectZ24u.com
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1. Solve the following.

a)41.8 - 10 c) 5.48 = 1000
d) 6.430 = 100 f) 6.17 = 1000
g)2.43 +100 () 4.24 + 100
2. Solve the following.
a)3.40 -2 b) 673 +3 c)5.05+5
d) 2.2 +~ 55 e) 3.66 + 3 f) 57.8 + 34
g)806 -4 h)8.19 + 18 i) 62.4 + 52
3. Solve the following. |
a)2.92+16 D) 7.7+ 35 C)4.37 =109
d)6.24 - 7.8 e)2.73 +1.3 f) 8.91+3.3
g)16.1 - 46 h) 3.68 +~ 0.4

a) The Capacity of the bottle is 4 5 litres.
b) The Capacity of the bottle js 2.5 litres.

- . [
. 1 ;‘. ':::_ll_ F ¥ = = =
I-_._‘- -"!-__I:-". ._'-|'| :
= X |
i ‘!I"]!:H,L_ -
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is 1.

a sea-turtle

4 km per hour.

imal?

dec

per ect24.com
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1. Convert the following fractions into decimals.

45 19 =i 33 97 78
a) 5 b) 2% °) %0 9 700 ®) 3 3
34 2 ~ 55 69 - 72 99
Q)-z-g h)—s— i) I3 J) 30 K) a5 ) 33

2. Noman ate -—;- of a pizza. How can we write this in decimal form?

need to round-off thi
decimal place.

4, . - fogs r'

v

Circle the digit Look at the digit next to the tenths| | In 1.47, the digit
at the tenths place(i.e. hundredths place). If

this digit is 5 or greater th ns w next to 4 is 7 which
S O Or greater tha .wel | :
pPlace, will add 1 to the tenthe digitand | | 'S 9reater than 5, so:

remove all the next digits towards 1.47+1.5
its right. |

If this digit is smaller than 5, we
will write the tenths place digit as

itis and remove all the digits
towards its right.

ALL.COIT | i .

Exercise 5 &

BEEERSSS——————————

perfect24u.com
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T

20.3=20 :
8+203=13+20=33

So, the total distance Umar covered is 33 km.

Now actually add the distances and check
if our estimation is correct or not. |

12.8 + 20.3 = 33.1

So, our estimation is correct.

—
e —————

perifect24u.com
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\

e the difference of 25.3and 7.9

, 25 7.9~ 8
-1$ : 25.3 ~ 25
i 1 253-79~25_-8=17
253-79=174
So, our estimation is correct.
i )

and ﬂa&n venfy }fﬂﬂfﬁnﬂ_wéf
_ 837,114 b)308,42

, ALl >C Y\
- y 4 o ji_ ':‘: = T"";:; *‘-a,_;db ._E- ?'f",-;' LJ
a) 47.125 -b) 4.732 ©)2822° " dJ0.942 " “e)45675 1) 2150

g) 91547 h)94.172 i) 5.183 ) 3.767 k) 4.172 1) 90.267

2. Estimate the sum of the given numbers.

a)52.90+17.98  b)630.1 + 280.9
€)741.2+30.10  f) 845.1 + 395 0

i) 99.99 + 87.91 j) 943.6 + 834 6

c)41.01 + 36.87 d)307.2 + 357.6

g)63.81 + 25 91 h)21.35 + 83.05
k) 123.4 + 567.8 [) 737.8 + 721.2

3. Estimate the difference of the given numbers.

)22.30-17.99  b)78.92 — 69 11

©)587.6 —-320.9 f) 402.3 — 292 1
) 53.25-2562 ) 544.1 — 4145

€)56.23-11.26  d)234.6 — 159.8
9)995.5-7471  h)673.1— 4305

k)3.5-2.1 ) 9.355 —7.316

=S NO AEORSALE

L5 T =
L L = '-'hd'i‘"rl--
3 il - L =i e
X ¥
s o
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WSS i - .-I
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The percentage is a
- special kind of fraction

_with 100 as denominator.
The symbol to represent |

g percentage is "%".

%mﬁof’lli ﬁanbewrttten as%%

To write this number in percentage form, first we will mrwert
o \or inatnr of this fractian into 100, so that we can easily

per ect2u.m
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onversion of Percentage into Fractions

G — e

tudents who wear glasses = 429,

- Fraction of students who = 1%%
wear glasses
21

= 50 (simplest form)

So, the students who wear glasses are fg—a'

onverferforRémER Grladtl) . COM

¢ Iy

Total marks =100

Marks obtained = 83

e sS>S——_

4U.CC
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Convert 0.2 into percentage.

= 20%
of Percentage to Decimals

_Conversmn

Similarly: 29, = 2 o 0.02
| = = ().

s, 30% questiuns are based on

mapog i Fou 10 ‘“‘iiﬁ“"igg@, e

guestions based on mapping skl
Total questions = 20
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41, QO§X

ory produced 850 masks in a day. 72%

masks are blue. Find the number
of blue masks produced by the factory in a d

ay.
Total number of masks = 850

Number of blue masks

72% of 850

-1-?-0-26— X 850 =612

The factory produces 612 blue masks in a day.

T Trylt!%

20% of an amount is 350 rupees. Find:
- A) 1% of the amount.

B) 100 % of the amount.
~ C) 1,000 % of the amount.

T - ) W '
« ' :
4 ‘ i l‘ .
™™

Ll | '\ JI1IV
I L_V_Ih]v.v'-__l

1. Express the following in percentage.

4 35 76 A2
2) 700 b) 300 ©) 300 d) 700
47 45 66 . 89
) F00 9)700 h)700 ) J00

2. Convert the following percentages into fractions.
- a) 13% b) 249% c) 46%

perfect24u.com
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4. Convert the following fractions into percentage.

1 2 4 9 3
a0 b)75 )0 d)725~ )20
21 1 7 9 = S
N 750 9)75 720 ) [0 ) 25
5. Convert the following decimals into percentage form.
a) 0.06 b) 0.14 c) 0.23 d) 0.34 e) 0.43
f) 0.55 g) 0.63 h) 0.71 i) 0.98 j) 0.3

6. Sajid scored 365 marks out of 500. What percentage did he score?
7 There are 40 students in a class. If 5% are absent on Monday, calculate:
- a) the number of absent students
b) the number of present students

8. In an exam, 450 students appeared. 25% got first division, 55% got second
division and the rest just passed the exam. Find the number of students who
just passed the exam.

9. 12% of apples in a basket are red. Write this percentage in fraction and
decimal. |_) CCOTHOALL

10.A tank can hotd-85 iters of water/It's 4% filled. What percentage of the
tank is empty? Write the answer in decimal and fraction.

. comparing numbers up 10 3 - digit with
2 decimal places using signs <, = OF =.
. arranging numbers up to 3 - digit fraction
decimal Point
percentage
decimal place
estimation

round-oft

numbers with 2 decimal places in
i ascending and descending order.
. adding and subtracting in 4 - digit
: numbers up to 3 - decimal places.
"+ multiplying a 3 - digit number up to 2
~ decimal places by 10, 100, and 1000

periect24u.com
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* Mmultiplying a 3 - digit number up to 2 decimal places by a whole number
up to 2 - digit

* multiplying a 3 - digit number up to 2 decimal places by a 3 - digit number
Up to 2 decimal places. |
* dividinga 3 - digit number up to 2
* dividing a 3 - digit numbers up to
o 2 - digit.
~* dividing a 3 - digit number up
to 1 decimal place

" converting fractions to decimals using division.
* Solving real life situations inv

decimal places by 10, 100,and 1,000
2 decimal places by a whole number up

to 2 decimal places by a 2 - digit number up

olving division of 3 - digit numbers up to 2
decimal places.
* rounding off a 4 - digit number Up to 3 - decimal places to the nearest
tenth or hundredth.

estimating sum or difference of the numbers

(up to 4 - digit).
récognizing percentage as a special kind of fraction.

mber and vice versa
(only for numbers without decimal part i.e. 35%, 75% etc.).

solving rea life situations involvin_g percentages.

| e -..l'a'..l.li. TR i '-'=-| = — i i‘ ;

™ r— I) Review | ( EE\A
| ) — I : e E]
| i | B .

1. Engircle the correct option.

———

a) Putting at the right of a decimal does not effect its value
" i)100 i) 0 i) 1 iv) 10
b) When multiplying a decimal by 100, we move decimal point 2 places to the
1) left ii) down i) up Iv) right

¢) We represent percentage by the symbol

| i) < i) if) = iv) %
d) 20% of 540 is
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2. Compare the following decimals using the correct symbol (>, < or =).

a)05 08 b) 1.8 1.4 c) 45.67 45.77
A TR TFO e) 1.56 1.56 f) 34.23 62.42

3. Solve the following. '

a) 5.242 + 9.003 b) 3.622 + 22.971 c) 4.32 +90.16

d) 13.12 + 86.57 e) 58.57 + 6.118 f)y 04.561 + 27.16

g) 92.93 - 31.33 h) 8.25 - 4.97 i) 4.63-1.21

j) 22.92-2.001 k) 6.119-155 ) 20.36 - 6.211

4. Ahmed wants to buy a chocolate which costs Rs. 98.46. He has Rs. 52.25.

How much more money does he need to buy chocolate?
5. Omar bought two rolls of tape. The first roll has 16.38 meters of tape and
~ the second roll has 56.82 meters of tape. Find:

a) How much tape was there in both of the rolls altogether?

b) WhichEé’T@fwt%e:and how mugh?

6. In a fabric warehouse, thére was 43.5 meters of colored cloth. 1f it is cut into

_equal pieces of 1.5 metres..
a) How many pieces of cloth will be obtained?
b) What will be the total length of 12 pieces of cloth of length 1.5 metres?

7. Saolve the following.

a) 32.855 x 10 b) 4.39 x 100 c) 5.98 x 1000
d) 6.54 x 21 e) 4.14 x 43 fy 7.17 x 6.5
g) 69.7 x 2.31 h) 2.19 x 4.87 ) 4.13 x 6.12
j) 82.6+100 k) 3.12+1.3 ) 4.21+2.5

8. Estimate the sum and d‘ifferenca-of the given numbers.

' a) 63.11 + 2.809 b) 741+ 3.9 ¢) 521.2 + 479.8
d) 74.92 — 36.02 o) 324.6 — 241.6 f) 888.8 —479.2

H
v = e i~ = i
= e Vi W R = v S = —_— e -— -
— e -
e e e ———— e i S, SN 8 e - el e e e | ==
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TE A

9. ROUNd-0ff the following decimals to the nearest tenths and hundreths.

A Rounded-off upto 1 |
Decimals __ d&mmalpla&e |
(nearest tenths)
a) 22342
.
b)  3.1723
C) 5.3671
d)  9.5191
10. Complete the table.
fractiqns decimals
21
a) 50 , |
b) a 82%" |
w8
c) 25
= T
d) 0.65
e) 25%

is the percentage of the total
amount spent by Junaid? Write the answer in fraction and decimal form.

12. There are 32 students in a class. If 25% students wear glasses.
a) the number of students who wear glasses?
b) how many students do not wear glasses?

13. A mathematics Paper has 20 questions out of which 60% are based on
"Numbers and Operations",

a) How many guestions are based on "

Numbers and Operations"?
b) Write the number of remaining ques

tions in fraction and decimal.

T I e

o - — e — r'.‘_ - rb'-_
Es | [} #l : = 1 & —
 —— " G . @. - ’\! = % F:1a 0 -
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By the end of this unit, you will be able to:

« convert measures given in
« kilometers to meters and vice versa
+« meters to centimeters and vice versa
» Centimeters to millimeters and vice versa.
solve real life situations involving conversion, addition and subtraction of measures of distance
convert
» hours to minutes and vice versa
« minutes to seconds and vice versa
convert
« vyears to months and vice versa
« months to days and vice versa
« weeks to days and vice versa
add and subtract intervals of time in hours and minutes with carrying and borrowing.
solve real life situations involving conversion, addition and subtraction of intervals of time.

= D : "
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Conversion of Kilometres to Metres

As 1 km= 1,000 m
So, to find the distance in metres we will multiply 55 km by 1,000.

55 km = 55 x 1,000 m
¥ Sa‘nm E‘ L 2 \ y : ";ré

E

> ¥ — .I

We convert 56 kilometres 450 metres to metres.
First convert 56 kilometres to metres and then add 450 in it.

{
56 km450m = 56 km +450m
= 56x1000 m +450m
56,000 m +450 m

96,450 m

B N R R o e T e e

perfect24u.com
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I
onversion of Metres to Kilometres

2,000 m = 2,000 + 1,000 km

So, the distance between my house : 0.
and the park is 2 km R I Y,
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Conversion of Metres into Centimetres

To find the height of Minar-e-Pakistan in
centimetres, multiply 70 m by 100.

70 m= 70 x 100 cm
= 7,000 cm
So, the height of Minar e Pakistan is 7,000 cm

Convert 38 cm 78cm in centimetres only.



https://www.perfect24u.com/
https://www.perfect24u.com/

< g I

COHVEIaIOT“ of ntiimetres into Metres

200cm = 200 + 100 m
1

= X m
200}(100

F«wen@c YR

« To convert centlmetres into metres, divide by 100.

Let's convert 585 cm into metres
and centimetres.

585 cm = 500cm + 85cm
- 900 m + 85cm
100

5m + 85cm
5m 85cm
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Conversion of Centimetres to into Millimetres

15cm =15 x 10

=150 mm
The length of the lunch box is 150 mm

millimetres, first convert 89 centimetres to millimetres
and then add 44 millimetr: _ ; T e e
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Conversion of Millimetres into Centimetres

60 mm = 60 = 10 cm
e 1

_ —c

60 x 10 m

60 mm = 6 cm

N D) RO RGA P e
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Saturday and 3 kilometres 490 n
What is the total ﬂlstanm e Co\

Subhan walks for 2 kilorm;; s 670 metres

vered in 2 f.tays first we
will add bnth ﬂm distances
and thah convert it into

Totaf distanca covared in 2 days

—_— BE—— e e — [ " R . m——

same units " Add' km II“I km,
m in m, cm in cm and mm-

in mm.
\

J

To convert distance 6km 160m to meters.

6km160m = 6km+ 160 m
= 6 x 1000m + 160 m
= 6000 m+ 160 m

= 6160 m

Convert kilometres to metres and then add 160 metres in it.
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Thus, the difference between the heights
of Petronas twin tower and Burj Khalifa is 376 m

1. Convert the following units of distance as directed.
a)34dkmtom - b)930m 74 km to m

c) 970 m to km d) 5890 m to km and m

e) 67 mtocm f) 46 cm 650 m to cm

g) 840 cm to m ~ h)107 cmto mm

i) 8 mm 99 cm to mm J) 70 mm to cm

k) 485 mm to cm and mm 1) 900 m to cm

perfect24u.com - e
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2.To celebrate the independence day, Madeeha bought 4m 35 cm of green
cloth to stitch a green shirt. For shawl and trouser, she bought 6m 79 cm
white cloth. How many centimetres of cloth did she buy altogether?

3.Ahmad bought 140 cm ribbon to pack the gift box. How many millimetre
ribbon he bought?

4.The lengths of the two ropes is 17 cm 9 mm and 80 cm 6 mm.

a) What is the difference between the length of two ropes?
b) What is the total length of the two ropes in millimetres?

5.1n a hospital, two halls are constructed for patients, where medical aid will
be given to them. The length of one hall is 276 m 20 cm and the length of
the other hall is 689 m 98 cm. what is the total length of both halls?

6.The distance between Ahmer's house to Masjid is 4 km 196 m the distance
Ali's house to Masjid is 5 km 298 m. Whose house is nearer to the Masjid
and by how much?

7.The park near Waieed*s house is 2 km 117 m long and the park near

) ki :1'2':"".",";' QT 2% U m Meen the
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Convert 12 hours 45 minutes into minutes.

12h+45min
= 12 x 60 min +'~4_5;_mir| -
. = 720 min + 45 min

= 765 min

l

‘Conversion of Minutes to Hours

A doctor performs his duty for 480 minutes daily. How many hours
does he work daily?



https://www.perfect24u.com/
https://www.perfect24u.com/

| 5 5,280 min = 5,280 + 60 h '_ i

5230x-l-

30
BBh

~ 25 min = 25 x 60 sec
= 1500 sec

Aadil finishes his lunch in 1500 seconds.

e Ta mnvert minutes ﬂﬁﬁ samnds mq!t;pfy by m

i-ﬁ-. Ta e@n\feﬂ seeands mta mimlfGS, ﬁ"-.'__ " W@*f

- .:- l""'"—-r
- ‘.._ %
1

‘I

5,23@ minutes tnta hr.:urs = =
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| ?Go'nvrert '1-2'.0' mmutés 59 sat:unds intﬂa--md&

129 min Egsec % 120 min *59 sec
| =i 120:{30596 +5953c

Convert 120 minutes 59
o 71290 sec "' 59 53‘: | seconds into seconds.

= 7.2595ec

Conversion of Seconds to Minutes

To convert seconds into minutes, divide seconds by 60.

20 sec = 20 + 60 min
=20/ -% min

20 sec = 0.33 min

The required time to wash hands is 0.33 min

Convert 300 seconds to minutes.

300 sec = 300 <= 60 min

_ 300 x gﬁmm

Cnnvart the follnw:ng lntn seconds.
| i) 220 min ii) 540 min
Thus, there are 5 minutes in 300 seconds. i) 720 min

= 5 min

- Divide students. @wmmwﬂmmhofnﬁnutesmmgmpandaskmm
convert it into seconds @vaﬂaeﬂaﬂhﬂaﬂ:isofsmdswmgmupandaskedmem
to convert into minutes.. _

RPN

- Ty

98 N ZEORISA =

: fﬁ
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olil
Conversion of Hours into Days

Convert 240 hours into days.

240h = 240 =+ 24
= 10 days

Conversion of Days into Hours

Convert 5 days to hours.
To convert days into hours, multiply 5 days by 24,

S5days = 5x24 h
= 120 h
Conversion of Weeks to Days

A gardaners-plants iha

Two convert weeks to days with 7
We multiply number of weeks with 7 days

2 weeks = 2 x 7 days
= 14 days

It takes 14 days for the plant to grow.

- Convert 6 weeks 3 days into days.

“perfect24u.com
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P

into Weeks

f Days

ion o

onversi

C

=
O
C.n._.
=
&

weeks

=21

) _
2 I~
P~ X
b e
o ﬁlm
i

21 days

e
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Months to Days

To convert months into days, multiply 11 months with 30.

11 months = 11 days x 30 days *
| = 330 days :
The days required to consiruct the house is 330 days. -

onversion of Days into Months
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Divide 90 days by 30. -

90 days = 90 + 30 months

1
30

90 days = 3 months

=00 x ——

The author writes the book in 3 months.

2
l TQCG V’Ert Seahe
- months, dtwda by :,j_j:;-_‘;;:
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Convert 3 years to months by multiplying 3 with 12.

/

= 3 x 12 months
36 months
He completes the proj

3 years

36 months

in

L]

ect

___L...-. —#‘_:E _r.-.

| X

__:.. .” i ___ &
..r.l .

=

o mo

ki # il

o\ |-
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7
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1
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5

mgnms
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@

1

Divide 18 months by 12 to convert i into years.

£
$
@
;

12 years

—_—
-

18 months = 18

1

12
S years

18 x
.1

—
—

The government will complete this project in 1.5 years
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. Tﬂ eﬂnvart years into. rnnnths multlply by 12
. Tn vert menﬂm mtm yaars divide by 12

-

Convert 120 months to years.

120 months = 120 +12 years

= 120 x1—

12

120 months = 10 years
So, the number of years in 120 months ry You -
' ﬁhmad is 13?931'5 ﬂlﬁ Find

is 10 years his age in months.

1. Convert the given units of time as directed.
a) 45 h to min e) 64 min to sec
b) 240 h 56 min to min f) 180 min to sec
c) 960 mintoh g) 544 sec to min and sec

d) 440 min to h and min h) 600 sec to min
2. Convert the following as directed.
a) 56 years into months f) 12 weeks 6 days into days

b) 34 years 10 months into months g) 49 days into weeks

¢) 48 months into years h) 180 days into months

d) 56 months into years and months i) 67 months into days

e) 78 weeks into days j) 44 months 29 days into days

perieciZ4au.com
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Add the time she takes for baking
the two items.

@ |
Time to bake the cake 45min 28 sec

Time to bake the pizza = + 55min 34 sec

Total time = 101min 02sec

Hadia bakes both.items in.101.
time duration into'seconds,
then adds 2 seconds to it.

101 min 2 sec = 101 min + 2 sec

101 x 60 sec + 2 sec
= 6060 sec + 2 sec
= 6062 sec
~ The time taken in baking both the items
Subtraction of Units of Time

R
=

B -... = "
e o T S
& I - R

A .hLi.-— - — i g gd

= b e
e T ] T A

= I = e
b= il i
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7
Days spent in grandmother's home = 15 weeks 5 days (@@ g Aey Fact
Days spent in Aunt's home -6 weeks 6 days | 1 week = 7 days
When.we._ borrow
~one aweekio
Ahmed spends 8 weeks 6 days more days,weadd'? i“
in his grandmother's home than in \_Jays GO 3
his aunt's home. ' ———

To convert 8 weeks 6 days into days, [ 7 - e tian e
first we will convert weeks into days To subtract the units of time,
and add 6 days. ahwaya subiract the same units.

Difference 8 weeks 6 days

""\

J

8 weeks 6 days = 8 weeks + 6 days

= 8 x 7 days +6 days
= 56 days + 6 days
= 62 days -

- N
| |

. [er=—u B

' Exer(:ise $ t:"

1. Solve the following.
a) 3 h 20 min + 5 h 43 min b) 13 min 12 sec + 15 min 19 sec

¢) 33 years 8 months + 40 years 11 months

d) 2 weeks 3 days + 8 weeks 1 day e) 117 months + 7 n'innths
f) 8 months 12 days + 2 months 14 days

2. Solve the following.
a) 16 h 49 — 3 h 53 min b) 44 min 44 sec — 36 min 16 sec
c) 8 weeks 1 day — 2 weeks 3 days d) 17 months — 10 months 12 days
e) 40 months 28 days — 38 months 17 days
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3) Atrain takes 5 hours 56 minutes to travel from Multan to Lahore and 6
hours 22 minutes to travel from Lahore to Rawalpindi. How much time

does it take to travel from Multan to Rawalpindi?

4. To complete one Science project Hammad takes 2 weeks and 5 days and
to complete Math project he takes 1 week and 6 days. Which project takes
more time and how much?

5. Kamal's age is 10 years 5 months old and his friend's age is 11 year and 8
months. What is the difference between their ages in months?

6. Umer takes 3 hours 12 minutes to solve complete Maths homework sums
and 1 hour 50 minutes to complete English homework.
a) How much time does he take to complete both tasks in minutes?

b) In which subject, does he spend more time and how much more?

Conversion Table

1 km

1000 m

Tm

100 cm

1 em

10 mm

1h

60 min

B0 sec

7 days _

30 days

12 months

—_— —— i

- = converting measures given in
-« kilometers to meters and vice versa

» meters to centimeters and vice versa
« centimeters to millimeters and vice versa.

~» solving real life situations involving

~ conversion, addition and subtraction of
measures of distance.

| G JEGR IS

}-_

= . E.
— e
[ ] .
d = s r -
= ! = a B
¥ 2 - =1

version Tablo gt

Tm

1
1000 <™

1
100 M

<~

ATV
SOh

21 min
60

1
7 weeks

i
4

-3—1]— months

= g

| Have Learnt .4 .

pertect24u.con

.
5 L]

seconds
days
years
time

distance
metre

months
weeks
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« converting
« hours to minutes and vice versa
« minutes to seconds and vice versa
« converting
e years to months and vice versa . |
» months to days and vice versa kilometre  minutes
« weeks to days and vice versa

« adding and subtracting intervals of time in hours and minutes with
carrying and borrowing.

« solving real life situations involving conversion, addition and
subtraction of intervals of time.

conversions centimetre
addition millimetre
subtraction nours

Review Exercise 5

. Encircle the correct option.

YR I R — mtras in 2 kilometres,

1500 ! N0 iye0002 | 2 iiy200 " 1 \iv) 2000

b) To measure hours, minutes and seconds are used.

i) Time i) Distance iii) Area iv) Length

c) There are months in 3 year.

2
i) 6 i) 12 ii) 9 iv) 5

d) There are days in 10 months.

~ 1) 300 i) 30 i) 15 iv) 45

e) There are minutes in 5 hours.

i) 60 i) 300 i) 200 iv) 50

f) There are days in 7 weeks. |
i) 49 i) 42 i) 7 iv) 14

01 (), AEGIRIS ANE ——
pertect24u.com |
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~CletU L nvert the following.

a) 52 km to m D) 21 km 103 metres to m
c) 1050 m to km d) 6000 m to km and m
e) 198 m to cm f) 500 m 66 cm into cm
g)640cmintom h) 98 cm into mm
3. Convert the following.
a) 22 h 66 min to min b) 360 min to h
¢) 580 min into h and min d) 64 min into sec
e) 795 sec into min and sec f) 198 sec into min
4. Convert the following.
a) 78 years into months b) 14 years 6 months into months

c) 26 months to years and months
d) 9 weeks 2 days into days e) 35 days into weeks

f) 420 days into months

5. solve the following
a)6h52min+9h 12 min

b) 46 min 46.sec’+ 11 min 10 sec

C) 66 years 9 months + 22 years 7 months =
d) 34 min 20 sec — 12 min 55 sec

e) 6 weeks 5 days + 11 weeks 5 days

f) 49 months 19 days + 55 months

g) 33 months 15 days — 22 months 18 days

h) 20 weeks 5 days — 15 weeks 6 days

6. The length of two ropes are 15m 13 cm and 12 m 42 cm respectively.
a) What is the total length of two ropes? '
b) What is the difference between their lengths?

7. To stitch shirt A, a tailor takes 3 hours 45 minutes and to stitch the shirt B,
he takes 2 hours and 21 minutes.

a) For which shirt he takes more time?
b) How much time does he take to stich both the shirts altogether?

< _l: "‘~||Il r
MOT-LFC ?*Eﬂ-‘-. -l

perfect24u.com
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ARLELL 5 = 3
P T W N ST TP L T -5 x l‘l'l

-.r|
4.1

1@ ki 1en the value of one of these objects is given ff-r
* calculate tha value of one object of the same kind whd&fgalue of many of these objects are given E

» calculate the value of many objects of the same kind whﬁ! the value of some of these is given Y

.k :'.:: o il
“
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' For a science experiment, the : :
,,:ﬂ students were divided into 8 groups 5

e.- | and each group was given one
magnifying glass. If the price of

1 magnifying glass is Rs 245, find

hth‘e cost of 8 such glasses.

We can find price of 8 magnifying glasses by
multiplying price of one magnifying glass

with 8. MR Rt
_ - To find the price or value of
Price of 1 magnifying glass = Rs2435 rﬁl;i.lfi'pl"e._ i-tems_:_by.ﬂ?te m -
— Rs 1960 uf one Jtem by the number Of
required items.
The price of-8 magnifying-glasses.is-Rs1960. /
If the price « DEpnlrFls_-‘thlt ﬂﬂtMﬁmM?
Price of 1 pencil = Rs 10 "
Price of 15 pencils = Rs10x 15 S oo v

The price of 15 pencils is Rs 150.

@ The cost of 20 chairs is Rs. 7240. Hﬂw can we find the wst —
of 1 such chair? _ ;

We can find the price of 1 chair, by dividing the total price by 20.

Total price of 20 chairs = Rs. 7240

Price of 1 chair = Rs. 7240 + 20
— Rs. 362

The price of 1 chair is Rs. 362.
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In @ mango orchard, there are 576 trees in 32 identical rows. How many
trees will be there in 1 row?

Total number of trees = 576 _*f
Number of rows = 32 .~ 9
~ Number trees in 1 row = 576 32 e

| So, the total numbers of trees ln Or

When the va[ua of one item is known, the value of many items of the
3 ~ same kind can be found by multiplication.
_When the value of many items of the same kind is known, then the

L_P"EBaf one item can be found by division..

o Y

~ Visit the nearby market with your parents. Make a list of price of 5 or more

SRERFECT AT

Exercuse 1

1. The price of 1 geometry box is Rs. 76. Find the price of 26 gaametry boxes.

2. If the price of one ice cream is Rs. 55, find the price of 17 ice creams.

3. If the price of a popcorn pack is Rs. 37, find the price of 71 popcorn packs.

4. A bag weighs 21 kg. What will be the weight of 15 bags?

5. The capacity of 15 identical buses is 555 passengers. What will be the
capacity of 1 bus?

6. The price of 26 kg of sugar is Rs. 1170. What will be the price of 1 kg of
sugar?

7. If the rent of a house for 8 months is Rs. 145,680, what will be the rent of
the house for 1 month. |

8. The cost of 35 registers is Rs. 5075. Find the cost of 1 register.
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e hitary Method

.

" Father bought 12 tube lights for the home which
cost Rs. 6,900 altogether. What will be the price
:| of 7 such tube Ilghts?

Find the price of 1 tube light by division. Multiply
price of tube light with to find the price of 7 tube lights.

-

Price of 12 tube lights = Rs. 6,900
Price of 1 tube light = Rs.6,900 +12

= Rs. 575
Price of 7 tube lights = RS. 575 x 7
— Rs. 4,025

The price of 7 tube Iights Is Rs 4,025.

There iﬁ
in 14 sug ?ﬂh

Number of pages in 30 notebooks = 2940
Number of pages in one notebook — 2940 ..,3{)
Number of pages in 14 notebooks — 08

ta ﬁnd the value of muttlpla units. -
5 - -_". --_ TF"" :‘m .‘.-... l‘u--.f\-—\- 4 ..'r“-.-;. ] F‘F”"“; l'- “' ::':1'L “
‘:r‘__:_r;*‘:';i‘r"::: :E:: ‘".:‘}.‘{:‘ ;_:t‘!i'”(ﬁ'- 5% _:_ ‘-.-Jt k I-I %3 :

periect24u.co
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Exercise 2 -

1. There are 4,900 markers in 50 boxes. How many markers will be there in
75 such boxes?

2. The price of 10 maobile phones is Rs. 348,290. What will be the price of 29
mobile phones of the same model?

3. 40 books weigh 88 kg. What is the weight of 6 such hnoks?

4. A train travels 6,136 km in 52 hours. What distance will cover at the same
speed in 45 hours?

5. Amir buys 3 computers for Rs. 838,155. What will be the cost of 52 such’ |
- computers?

6. If the fare for 34 km is Rs. 1,190, what will be the fare for 48 km?

7. 19 pairs of shoes cost Rs. 23,750. What will be the price of 65 such pairs?

| Have Learnt .54 ~

+ calculatin n___ value of man;r objects
of the se Iﬁéﬂﬂﬂﬁ value of
~ some of the objects given
~ » calculating the value of one object
~ when the value of many objects is
given | 55

Uita- méthiod, |\
price

items -
value

Review Exercise :u'h'f.' |

1. Encircle the correct option.

a) The price of a book is Rs 250, the price of 5 books will be Rs |
1) 50 | i) 1,000 iii) 1,250 iv) 2,500

! -
b) The price of 11 carpets is Rs 35805, the price of carpetis ___

i)3,855 i) 3,055 iii) 2,355 iv) 3,255

o o

16, <FORISALE

e B

oy P O

BT s W R
= ¥ e

oerfect24u.com
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c) The price of a book is Rs 555. The price of 10 books will be Rs

)2,550 ii) 5,050 iii) 3,250 iv) 5,550
d) Price of 6 oranges is Rs 48. The price of 72 oranges will be Rs
i) 567 ii) 96 i) 112 iv) 576

e) The price of 3 chairs is Rs 645. The price of 16 chairs will be Rs

) 3,040 ii) 3,004 iii) 3,440 iv) 3,404

2. A story book of stories costs Rs. 440. Find out the price of 15 story books.
3. If the price of 16 schoal bags is Rs. 24,000, find out the price of 1 such bag.

4. 425 pearls were used to make a necklace,

a) How many pearls will be used to make 25 necklaces?

b) How many pearls will be used to make 100 necklaces?

5) If the pricelof.5 washing ﬂficﬁ: @4@ ﬂ'C O M

a) The price of 24 such washing machlnes

b) The price of 10 such washing machines.

perfect24u com
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By the end of this unit, you will be able to:

recognize straight and reflex angles.

J recognize the standard units for measuring angles is 1°, which is defined as mm’ a complete
revolution. '

identify, describe and estimate the size of angles.
classify angles as acute, right or obtuse.

compare angles with right the angles and recognize that a straight line is equivalent 10 two right
angles.

use protractor and ruler to construct
+ Acright angle
« A straight angle
+ Reflex angles of different measures
describe adjacent, complementary and supplementary angles.
+ identify and describe triangles with respect to their sides. (isosceles, equilateral, and scalene)
-+ identify and describe triangles with respect to their angies. (Acute angled triangle, Obtuse angled

triangle and fightangledtiangles) == o=, =y=c 4 5§ N o
protractor and il 10 constructa angle wi Tl'} 4 B 3
T b ; '- ~r ; “_,' y ~ _.“_. + 1. &Eﬁ | E y = ‘h:;._,_"fé'

= fwo sideé and includ‘éd angle is given.

measure the lengths of the remaining sides and angles of the triangle.

recognize different kinds of quadrilaterals (square, rectangle, parallelogram, rhombus, trapezium,
and kite).

identify and describe properties of quadrilaterals including square, rectangle, parallelogram,
rhombus, trapezium, and kite, and classify those using parallel sides, equal sides and equal
angles.

use protractor and ruler to construct square and rectangle when lengths of sides are given.
recognize different types of symmetry (Reflective and Rotational) in 2-D figures.

identify lines of symmetry for given 2-D figures.

find point of rotation and order of rotational symmetry of given 2-D figures.

identify cubes, cuboids and pyramids from their nets.

describe and make 3-D objects (cubes, cuboids, cylinder, cone, sphere. pyramids).

" Hammad visited Murree. There, he saw the reflection of a mountain
in the water, which looked the same as the mountain.
Can you tell the relation between the mountain and its reflection?

116 ==

e - .
5'1.1- F . ' |
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This is a straight angle.
ZAOB = 180° an angle of measure 180° is called straight angle.

This angle m£AOB is greater than 180° o
‘but smaller than a complete rotation ?

which is 360°. Such angles are called o
reflex angles.

wlﬁtmaaﬂ)erang!as By i AR e e e

perfect24u com
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) Draw aray AB. | ' A B

L A

i) Place the protractor on the ray AB i, W50 “w,
.such th& the center point of protractor ! ,f f ,_&
is exactly at point A and the baseline &
of the protractor is aligned with the
arm AB.

lii) Read the inner scale on the protractor

DR CT 240

iv)Remove the protractor and join Ato C. £ "

v) ZBAC = 90° is the required right-angle.

perfect24u.com
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/

) 0lih
| : | | )
@? - CC:IH'SthCt ZDEF =180
i< 4 using protractor.
= : |
>
F

ml

1) Draw a ray EF.

[LAL LIy T
-. _. " 4y W

o . “"--..*“.iw
: . o

R

the center point of protractor is exactly at >
point E and the baseline of the ._ 5 ok

-l!..- -
_!t
=
-

protractor is aligned with the arm EF. -§ ./

O L [T T .

lii) Read the seale on the protractorand < ) | | Leftiegs®
mark a point B-at 180°. | e =

iv)Remove the protractor and join D to E. B o\
_ - F

v) ZDEF = 180° is the required X (=LA :
straight-angle. D E i
1. How many right angles are there in a straight angle?
2. How many straight angles are there in a complete rﬂtétim‘?
~ A

. .l.-._.ur___.-.:':};

oerfect24u.com
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using protractor.

To construct a reflex angle of 285°, first we subtract the reflex angle from
360° and then draw the resulting angle, below the ray

pe———

E 360° - 285° = 75° i

% e _A—“A—j

i) Draw aray BA. | e -

i) Place the protractor upside down on <O

ray BA so that the centre of the protractor

is exactly on point B and the baseline

|'-=-¢-\-—--

of the pﬁ ctor is alrgged with the arm BA
\ I C

N || - &

i) Read the scale on the protractor
and mark a point C at 75°.

iv) Remove the protractor and join B to C.

v) Z/ABC = 285° is the required reflex angle.

perfect24u.com
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The hour hand, the minute hand and the second hand are making two angles.

The second hand is the common arm of both the angles. The center of the
clock is the common vertex of these two angles.

Angle AOB is adjacent to angle BOC. Their common arm is OB and the
common vertex is O.

T wo angles are mlleﬁ adjaeaht angles ﬁ‘- - Qj: 35 = = =
+ they haveacommonarm BEaT ol T
« they are on the opposite siﬂe oftha mmmawn. e ST

. the_v have a common vertex ENE S e
E‘_ . R ek L -

: Lo AN ’ {50 R
B ek LU R - — = - =i 7 W ¥
%; L R el e G
Ry | L ey | ':' N - ‘l
[ i
Ly = v
| . . L -
I i ot el R e oy L] ¥ 1
o = . 2 ;
|‘# N e . B e e - N . &
,
&
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Complementary Angles

i

o PEREECT 941 COM

Non-Adjacent Complementary n

- mzZP0OQ + mZABC = 75° + 15° = 90°

elrfectZ4u.com
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Supplementary Angles

4 - ; _ D)
Two angles are called Ve

-] supplementary angles, if their sum -
is 180°. They may be adjacent or

non-adjacent ' Fieas
" - Sy=sd

mZAOD + m/DOC = 100°+ 80° =180°
Adjacent Supplementary Angles -

mZABC + m/PQR = 120° + 60° = 130“
Non-Adjacent Supplementary Angles

Can twa stralght angles be ihe su;:plament of eanh other‘?
k‘E:«n:p[aln your answer. e

_:‘. ,.._ & Ask the students to find suppiemantary angles in m aﬁ arﬂundﬂ'mm =
By AAEL

@) 2EBDRISANE
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1. Draw a right angle using cardboard and compare it with the given angles
to accurately indicate the types of angles.

A ;
a) b) c)
s, ot /
i I
. T > w_1,.,,‘I‘Jr_ o - — —
A <
d) / e) \\\
/ |
£ % |
e — -3 e L S _h_____z

2. Use thelprolactorto Oraw thé given angies. |

a)35° b)45° c)240° d)180° e)90° f)60° Q) 300° h) 155°

3. Identify adjacent angles from the given angles.

4. Find the supplement of the following.
a)98°> b)180° ¢)115° d)3° e)78° f)135° g)90°

5. Find the complement of the following. |
a)12° b)88° ¢)90° d)10° e)62° f)40° g)70°

i 1
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Types of Triangles with respect to their Angles

L]

Acute-Angled Triangle

'-
= s
L=y
P T
il -
¥ ". - | ¥
" | L - . L
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Obtuse-Angled Triangle-

Construction of Triangle when two angles and one side is given
Construct a triangle EFG in which

EF = 6 cm, ZE-35° and AF 70°,

perfectZ4u.com
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LR B | —
(N

llarly, using a protractor, draw another angle of 70° at Paint F. The two
drawn rays intersect at G.

G

E

!LMeasure EG and FG using amlelrj

Construction of a Triangle when two si e d incl angle is qgi
vt o8 & L e IIG WO 8, il e IS given
Conin A 1 o s AL e sl e

) Using ruler, draw a line segment AB = 4 cm.

\ Use the geometry box and construct ﬂwtﬂ gl r
o follew you and construct it on their notebooks. ot

129
- i R
B i . perfect24u.com
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i) Mark a point C on the arm of 30° such that BC= 3cm.

30°
4 cm

> A

iv) Use ruler to Join Ato C.

1. ldentify th an@r sides._
ﬁﬁrﬁ ih-.#-muusv-u‘\'nﬂ%i

d)

2. Identify these triangles with respect to their angles.

o o b4

fect24
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3. Draw a triangle ABC in which, mZA = 75°, mAB = 4 cm and m/B = 25°.

4. Draw a triangle LMN in which, mZL = 60°, mLM = 5.5 ¢m. And mZM = 30°.
5. Draw a triangle JKL in which, mKL = 4cm, mJK = 3.2 cm and mZJKL = 30°.

6. Draw a triangle XYZ in which, YZ = 7.3cm, XY = 3.5 cm and A XYZ = 40°.

Measure the remaining angles and sides of triangle in Q. 3-6.

%

" There are various objects around u&whlch have 4 sides.
What do we call these shapes?

TR LR AR AR AL

AARRURALREARARRARRRAR

Shapes which have
four sides and four
angles are called By
quadrifaterals. | |4

D I.r;: % Fpe b

ABCD is a quadrilateral. AB, BC, CD and DA are its four sides. Za, /b, Zc and Zd are
its four angles.

. al- '_:’ o '_..“_
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Types of Quadrilaterals

Square

A quadrilateral having four equal sides
and four right angles is called
a square. EFGH is a square.

mEF = mGH = mEH = mFG

Rectangle

A quadrilateral having opposite sides equal
in length is called a rectangle. All four
angles are right angles in a rectangle.

mLM = mON, mLO = mMN
LM || ON, LO || MN

Parallelogram
A quadnlaterai with two pairs of opposlte parallel

sides and @pﬁ@sﬂe Wﬂl angles| is cql led & /|
Parallelogram. hﬁCD is a parallelogram.

mAB = mDC, mAD = mBC

AB || DC, AD || BC

LA=/C, £B=4D

Rhombus

A quadrilateral having all sides are equal and
parallel, is called a rhombus. Opposite angles are
equal but there is no right angle in rhombus.
WXYZ is a rhombus.

mMWX = mYZ, mWZ = mXY
WX || YZ, WZ || XY W

e the student s. Ask each group to compare any two quadrilaterals and write

N ._...'—l—

perfect4om
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L4

Zium

A quadrilateral having only one pair

of parallel sides, is called a trapezium.
ABCD is a trapezium.

AB || DC

Kite
A quadrilateral having two pairs

of equal adjacent sides, is called
a kite. STUV is a trapezium.

MSV = mUV, mST = mUT

Construciion of square

Construct 4 square mﬁﬂﬂﬁﬁaﬁher_she}i@O M

i) Draw a line AB = 3.8 cm.

ii) Usi i intA
) Using a protractor draw right angles at point A and B. e h

133

s
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iv) Joing point C to D
ABCD is the required square.

PERFECT24U.COM

Construction of a rectangle

iii) Mark points D and C such that mAD = mBC = 3.8 cm.

3.8cm -+

A

4
i
3.8 cm
3.8 cm B
3.{8 cm C
—-— 3.8cm

3.8cm

Construct a rectangle KLMN whose length is 5 cm and width is 2 cm.

i) Draw a line mKL = 5 cm.

ii)Using a protractor draw 90° angles at point K and L.

!

A

K  5cm L

T |
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g ar palnts M and N such that mLM = mKN = 2cm.

" ﬂ ; . T S T M
EEF ; 1..., > [2 cm
B SR =

KESE s5cm > 2o L

Join point M to N.
KLMN is the required rectangle.

: Is every saqUarﬁ a ﬁremanglﬁ’? li..eyerlr IIU QQM

Rhombus a parallelogram? Is every parallelogram a rhombus? Explain
~ your answers.

R —— R - - —

1. Label the following quadrilaterals and describe at least two propertlas of
each (in terms of sides and angles).

| Smee 4 ‘1
a) ( _

i
5 S

perfctcom
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2. Draw squares with to the given lengths using of protractor and ruler.

a) 3.4 cm b) 5cm c) 7.2cm d) 4 cm

e) 6.3 cm f) 5.5 cm g) 8.9 cm h) 3.3 cm

3. Draw rectangles using protractor and ruler with the given lengths and
Wldthﬁ [

a)7cm, 5cm b) 8cm, 4.4 cm

c) 6.6 cm, 3.4 cm d) 85cm, 5¢cm

e)6cm, 3.2 cm f) 9cm, 5.2 cm

Observe these figures. They have reflective Symmetry in them. The blue line is
the line of symmetry which is dividing the shapes in two parts.

— r‘
b = ﬂ;'fl
FER

Jerfe t2

.F
-
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The metry of figure about its line of symmetry may be tested by folding it
along that line. If the figure is symmetrical, the part to the left of the line will fit
exactly on to the part of right of the line and vice versa. This is called
reflective symmetry. A figure may have more than one line of symmetry for
example a square has four lines of symmetry and the rectangle has two lines

of symmetry.
| J‘ Does the shapes have reflective,
y syrnrnetry? . ] [ ”
Explaln your answer

A complete revolution has 4 rotations of 90°. 4 ww >

Let's observe this shape.

?F_IZ:

i =68 270°

We can see tﬁat when it is rotated around its center at an angle of 90° looks
exactly the same 4 times. It mean it has a rotational symmetry and the order

of its rotational symmetry is 4.

AR ol e, BTN T T = ™

sNape 100! S | ]&ﬂma {3 Gﬂ“ﬁd thB Ordﬁr
ry. The center of the shaj 3 ia mlledtha mntar
#.__"”"'* 3 u__:-r_ i : '-“ : T :I-?:: - e :'_'.- e

per ect24u com
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We can see that when the
shape is rotated about its
center, it looks exactly the
same twice. It means it
has a rotational symmetry
of order 2.

Look at the following.

E
I \1|

When its rotated about its center, it looks exactly the same only once. It

means it has no rotational symmetry.

C‘24U COI\/I'

Try It!

N e

- Colour the given boxes in such a way that the
‘ shape becomes symmetrical along the horizontal

- and vertical lines.

43
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Exercise 4 -

1.Circle the figures which have reflective symmetry. Also draw their line of
symmetry

:

A H
PEREF_ 1 ‘e"“.iLj ( ‘2:"

2. Circle the figures having rotational éymmatry Also write the order of their
rotation and mark their center of rotation.
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If we separate all the sides of a cube, then
we can see that it is made up of 6 similar
squares. These squares make the net of a

T Rk it , B
perfect24u.con
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Look at the given figures. On the left side there is a cube and on the right side
there is the net of the cube. It is made up of six squares.

e | 3

en net i the net of a cube or not? |

On the left side. there is a cuboid and on the right side there is the net of
the cuboid. It is made up of six rectangles.

I. ; E

ammesrezsaamass —

S
3
e
LA
o

B
= IL-'-.-.*-.'I' - ..

"..'.-.- ||-l - I-'.-il- - — |
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] 50K at the given figure. On the left there is a Square based pyramid and on

the right there is the net of the pyramid. It is made up of four triangles and
one square.

~ Net of a square pyramid

Exercise 5

1. Write the names of these fi ures. Also write the number of face n'd'
et | 2] V™

b)

Names of faces

= —
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2. Identify the nets of cube and colour them.
a) b)

et ﬁéﬁf = O W7 SN )Y

a) - b) C)
> :

d) e)
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Isosceles triangle

right angle

acute angle scalene triangle

reflex angle acute-angled triangle
adjacent angles obtuse-angles triangle
complementary angles right-angled triangle
supplementary angles quadrilaterals

triangle symmetry

equilateral triangle nets

_'.-_-‘
i - -

| Have Learnt . b4 °
recognising a straight and a reflex angle. |
recognising the standard units for measuring angles is 1 » which is
defined as S%ﬁsfa complete revolution. -

Identifying, describing and estimating the size of angles.
classifying angles as acute. right or obtuse. '

comparing angles with right_ang_lesjarld recognising that a straight line is
' orand r&lvert%e&nétr&f: o |

using & pr
e arightangle
e astraightangle
« reflexangles of different measures |
describing adjacent, complementary and supplementary angles.

identifying and describing triangles with respect to their sides.
(isosceles, equilateral, and scalene).

identifying and describing triangles with respect to their angles (acute
angled triangle, obtuse angled triangle and right-angled triangles).

* Uusing a protractor and ruler to construct a triangle when:
» twoangles and theirincluded sideis given
» twosides and included angle is given
« measuring the lengths of the remaining sides and angles of the triangle.

= recognising different kinds of quadrilaterals (square, rectangle,
parallelogr‘am, rhombus, trapezium, and kite).

IT\I' - -
[

perfect”2::4':.com
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° -id'entlfyiﬁg and describing properties of quadrilaterals_ includipg. square,

rectangle, parallelogram, rhombus, trapezium, and kite, and classifying those

using parallel sides, equal sides and equal angles. | ‘

constructing a square and rectangle when the lgngths of sides are given.

recognising reflective and rotational symmetry in 2-D figures.

identifying lines of symmetry for the given 2-D. figures. _

finding the point of rotation and order of rotational symmetry of the given 2-D

figures. . _

« identifying cubes, cuboids and pyramids from their nets.

« describing and making 3-D objects (cubes, cuboids, cylinder, cone, sphere,
pyramids).

e & @ &

1. Encircle P or g}* MSTOAIL N M\
a) Which of hese is'a reﬁexeéﬁgfe?fi L."T\J .\IJ\JI\
i) 75° iy 245° iii) 180° iv) 90°
b) The supplement of 20" is:
i) 160° i) 40° i) 70° iv) 80°
¢) The sum of two right angles is equal {o:
.i) reflex angle i) straight angle iii) acute angle iv) obtuse angled
d) Two angles will be called supplementary angles if their sum is equal to :
1) 180° i) 90° iii) 360° iv)100°
e) Which of the following shapes is not a quadrilateral?

i) [ i) @ ii) iv) /R

e 3——-—!— .1@|_-F ) = A —
éﬁ;-. J - _;E-E::'ﬂ;!
x -__-_-'_'\_!..;q_ ".-._-

perfectZ4u.com
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gle with sides equal is called an isosceles triangle.

eCct24UCHeR
) 1 i) 2 ii) 3 iv)4
g) Which of the following is_lnot the net of a cubg_? ‘

) O 1T ) O i) ) He

—

p———

L -l
| | L
r -I

| - |

h) The order of the rotational symmetry of the shape O Is:
i) 1 i) 2 i) 3 iv) 4
i) Which of the following is showing adjacent angles?

) \% | ii) (&%
1 5 V)
ﬁ/} o Ikk2

2. Draw these angles using protractor and ruler.

i

a) 35° b) 45° c) 240° . d)180°
e) 90° 1) 60°) gy3bl | > YN /55
. Q)t,"!'i‘e;-f~%fi%;

3. Identify the adjacent angles.

a)

4. Make 5 pairs of each complementary and supplementary angles.

a) | = f) . =
b) | =3 ~Eg + =
c) | = h) + =
d) | = ) + =
e) | = ) : =

perfect24u.com
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5. How many types of triangles are there with respect to their sides and
angles?

6. Draw a triangle IJK in which, m£I = 70°, IJ = 6.8 cm and m~/J = 28°.

7. Draw a triangle PQR in which, QR = 3.3cm, PQ = 5.2 cm and
mZPQR = 75°,

8. Draw squares according to the given lengths with the help of protractor
and ruler.

a) 4 cm b) 5.1 cm c) 3.6cm d) 4.9 cm

9. Draw rectangles with the help of protractor and ruler according to the
given lengths and widths.

a) L=4cm, W=34cm b) L=5cm, W=3cm
C) L=66cm W=42cm d) L=7cm, W=24cm

10. Circle the figures which have reflective symmetry. Also draw their
line of symmetry.

1 ) — a e ) 8 —_-_-'i'"_
S f : \ > B
I A ‘-.:.E) ; ~~r—t

a)

11. Circle the figures having rotational symmetry. Also write the order of their
rotation and mark their center of rotation.

b) c) d)

12. Use a cardboard to make nets of various solids. Also write the number of
their faces and the name of shape. Then fold them and verify whether
you have created the correct net or not.

a)

oerfect24u.com
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By the end of this unit, you will be able to:

differentiate between perimeter and area of a square and restangular ;egmn
identify the units for measurement of perimsler and area. |
find and apply formulas to find perimeter and area of e square and rectangular reglﬂﬁ
solve real life situations involving perimeter and area of square and regtangular regions.

L]

.
. s 2 =il
=

UAwonden fence is fo be fixed around a rectangular park. If
~ you know the length and width of the park how can you find
the reqwred length of the fence?

.—i

| ~ perfect24u.com
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Sara and Raza are in the same school. There is a playground in their school.
Do you know what is the shape of
our playground? If a wall is to be

mnstructed around the playground
what WIH be its total length?

The play ground is square shaped because its length and width |
y .,;; i A are equal Tha length of the wal! amund it thl be equal to its
¥ B Lpenmeter

— '. —_———— - - - =-J

Perimeter

PERF U Purs

@ The space covered by the ~ ® The total length of the

_ girians of any two 'i - boundary of a closed reglan' '

~ dimensional shape is called s called its perimeter.
- ® The units to measure the 1

its area. = |

-f perimeter are m (metres),
- (squared metres) and cm’ - and cm (centimetres) etc.
2 (squared centimetres) etc. .=. ® Example: The length of the
~ (like 15cm?, 24m’ etc.)

| fence around a region, the
= . Example: the space inside th_ total length of a photo frame
- boundary of a park.

etc.

@ The unit of area are m*

"ﬁ-\.

-

ﬂ‘sk tha:ﬁudam:a ’m draw squa;{aa and rectangiw of diﬂamnt nwasuremant on the

-. ._Ij L l l I. ﬂat ~ : :..
: ?“?h'mf wae

perfect24u
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Observe the given square and rectangle.
om

Zm_

3m 3m om|  |2m

Em-

9m
The total length of the boundary which highlighted with blue colour is called
their perimeter.
While the green portion, surrounded by their boundaries is called their area.

re S A R e T e e . =\
Can we calculate the area and perimeter of

the given figures? Give reason to support |
your answer. ; &

We can find lts" peﬁmeter by
Th = [ & gth 2 af all adding the Ierlgth of one su:ie ﬂf
the window 4 times or by, o
sides of a square
multiplymg length ﬂf me suﬂe
are equal.
\ Sy - with 4. - .

———

\_ R e £

Perimeter of a square = 4 x length of one side

If we represent the length of the square by L, then: 'FncT hE' perlmater af
Perimeter of a square = 4 x L o 2m st;fa g:ran Sﬂ@lr&d
The length of one side of the window =2m | = EEE
Perimeter of window =4 x2m =8m -“‘ L oo chm

- : _/

NP O —— "

periect24u.com
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fehaN Ras a square shaped picture frame with length of one sides

Is 22.5cm. Find the perimeter of the frame.

Perimeter of squared frame = 4 x length of one side

= 4x225cm
= 90cm
So, the perimeter of the picture frame is 90 cm,

| Draw a s@ﬂara w:th the penmeier of 12 eenumetres
= A square shaped grﬂund is 20 metre long. If a person takes 5 rounds of
L dhﬂwmumtgtﬂl distance does he cover?

The length Fm
How can w pe‘rﬁneté?‘”

width -

If we denote length of the rectangle with L and width with W. then:

Perimeter of rectangle=L+L+W + W
Or
Perimeter of rectangle = 2L + 2W

| n : Asktha stud&nis fnmamun&
%t by using the formula.

S NOL2E®R:SA=E:
AU COM
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e K ) AE GRS A B

Perimeter of rectangle = 2 (L + W)

- 2(26cm + 19.5cm) |

= 2(45.5) cm
= 91 cm

= 91 cm @
Thus, the perimeter of & K

the book is 91 cm. . ST i B e
Penmeter of rectangle = z(length + wid

yaur temhers table' aﬂd ﬁrrd 'ﬁs
penmeter by using the fo:mula

b

A rectangular poolis 10 metre long and 7. 3 metre wide. F ind the

perimeter of the pool. _ o
Length = 10m
Width | = 7,3m

Perimeter of rectangle = 2 (L + W)
Perimeter of the pool =2(10m + 7.3m)

= 2(17.3)m = 34.6m
Thus, the perimeter of the pool is 34.6m.

The length of a rectangular garden is 21 mgti'eﬁ \
and its width is 16 metres. If the rate of fencing is
Rs 170 per metre, find the cost of facing around it.

Perimeter of the garden = 2(L+ W)

= 2(37)=T74m The perlmatm‘ afa rectangulfar b
field is 66 metres. If the length of
this field is 15 metres, ﬁnd the

Cost of 74 metres fencing = Rs 170 x 74 width of the field. : a

= Rs 12,580 | Calculate the cost afpuﬁing
barbed wire around the field if tha :
rate of wire is Rs. 220 per metre.

h_ . v 3 .I_J'.

Cost of 1 metre of fencing= Rs 170

The cost of fencing is Rs 12,580

'ﬂ‘ Ask to students to find rectangular objects in ﬂ'mur ::Iassmam, measure the‘ir leng!hs and
s A S width and find the penmeter of each object. £ .

f"&'mu
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Exercnse 1-

1. Find the perimeter of the given squares.

a) m_ b) 13¢cm - )
7mi t/fm 13cm 13cm  4m
——
7 m 13 cm
2. Find the perimeter of the given rectangles.
a) 9 cm b) c)  12m
5cm + _ £ CmM

12 m

3. If the Ien% cE 5’6’%@& shaped crop field is 29 metres/
what will be its perimeter?

4. The perimeter of a square shape is 72 cm. g Perimeter = 72¢m
What will be its length?

5. Find the perimeter of the squares of given lengths
by usmg formula.

‘a)5cm b)12cm c)6m  d)19cm €)26m  f)2.5cm
9)97m h)15m i)166cm j)10m  k)7.1cm 1)2.7 cm

6. Find the penmeter of the rectangles of the given lengths and widths
by using formula.

a)L=3cm, W=2cm b)L=53m W=22m c)L=6cm, W=4 cm
dL=9mW=1.2m €e)L=10m W=59m fyL=15 cm, W= 12 cm
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7. Children are playing in a square shaped playground. If the length of the
playground is 12 meters, find its perimeter.

8. Harris wants to find out the perimeter of the square-shaped notice board
in his classroom. If the length of one side of the notice board is 2.5 meters,

find the perimeter of the board.

9. If a rectangular room is 10.8 meters long and 8.8 meters wide. Find the
perimeter of the room.

10. Nadia has a rectangular frame. The frame is 12 cm long and 8 cm wide.
Nadia wants to put a ribbon around the frame.
a) Find the required length of the
ribbon.
b) What will be the total cost of

ribbon if 1 meter of it costs
RS 5.

| Multiplying the cost of the ribbon |
~ per meter by the perimeter of the |

frame will determine the total |
: value of the ribbon.

11. A building is 128 meters long and 96.5 meters wide.

..l

a) Find out it faﬁrtmefer ) \\ i
b) Find the tota”l"‘i’:ost réqmreﬂ”fof the taﬁ?trj%t Eﬁgof‘ b%ﬂna&aﬁ/ Hv |

building if the rate of construction of wall is Rs. 470 per meter.

around this

r

My rmm IS square Shﬂp&d
length is 11 metres. Hwaﬂn L
find its araa? et elete

\,

\ -

n Ask the ﬂtudents tﬂ lﬂﬂk around for square shap&d ijetsis and th&ﬁ ﬁml ﬂmﬁr area 7

’f'l‘ﬁnl'l:ﬁ-""‘:r

N® EORISALE
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If we denote length of a side of the square by "L" then:

Area of a square = length of a side x length of the side '

Length of the rrom = 11 m

Areaoftheroom = LxL

1l

Mx11m°
=121 m°

Area of the room is 121 m’

Area rJf square Iength X Iength
S e oL
As tha umt nf the iength murtlplying SO unit of area is

A square mirror has
a length of 42 cm.

ot ' ' R
What is It%{% v ind, eccalcuredi
DL BPI s e | 0_;; cm “W n figure.
Length dfc'nne side L = 42cm T
Area of the mirror = [ x| .
= 42cm x 42cm N
= 1764 cm’

Area of the mirror is 1764 cm®. \
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The area of a rectangle can be found by multiplying its length with its width.

If we denote the length of the rectangle by "L" and width by "W", then:

Area of rectangle = Length x Width

Area of rectangle = LxW
Length of the flower bed = 7.5m

Width of the flower bed = 4m
Area of the flowerbed = 7.5 x4m’

= 30m°
Thus, area of the flower bed is 30m~.

" Ty Yourself

Measure the length and width of
your classroom. Then find the cost SRR
of tiling your classroom if the rate of =~ "eAOLTE gLa = ]E"'th X ‘ﬁﬁ!ﬁﬂ‘!
tiling is Rs 455 per metre square o R Lxw

hl"'l||-.—-|.||—.--—.-.-l.|- e gl

A rectangular hospital has-a-perimeter aquah tﬂ 294vmeﬂem prts

o

length is 85 metre find its area.

Area of rectangle = 2 (L + W)
294m = 2(L+ W)
294m = 2 (83 +W)
294m = 170m + 2W

294m - 170 = 2W

124 = 2W
124 < 2= W
62m = W - W =62m

Area of rectangle = | x W
Area of rectangle = 85m x 62m

Area of hospital - 5270m°
Area of the hospital is 5,270m".
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1. Find the area of the given squares.

a) : b) 22 cm

25m 22cm

22 cm

2. Find the area of the given rectangles.

a)

3 cm

45¢cm

3 The areaE EB E EHQIE w%fh is 3m, fi g lengt M

4. Find the area of the squares of the given lengths by using formula.
a)4.5m b) 9.3 cm c)8.8m d) 15 cm
e) 13 cm f)3m g)6m h)2.9m
i) 5cm i)9.2m k) 14 m 1.1 cm

5. Find the area of the rectangles of the given lengths and widths by using
formula.

a)L=5cm, W=1.9cm | b)L=4m, W=3m
c) L =6 cm, W=4 cm d) L =7 cm, W= 5 cm
e) L=10.5cm, W=9 cm ’ L=20m, W=17 m

6. Arectangular shaped ground has a length of 122m and width 108m. Eind
the area of the ground.

perfect24u com
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7. The area of a school's main gate is 19.55m",

a) If the width of the gate is 2.3m find its length.

B) Find the cost of painting the gate if the rate of painting is Rs. 275 per m’.

8. The area of a square shaped Masjid is 27,540m"and its length is 255 metres.
Calcualte: ‘

a) The perimeter of the masjid.

b) The cost of carpeting the masjid if the rate of carpeting is Rs 275 per m’.

9. Find the area of the blue part.

22 cm

10 cm

o =

- differentiation between perimeter and area of a Vocabui
square and rectangular region. | perimeter

- identifying the units for measurement of area
perimeter and area. . square

. rectangle
unit
- formula

- finding and applying formulas to find perimeter
and area of a square and rectangular region

. solving real life situations involving perimeter and
area of square and rectangular regions.

. region
measurement

-%@R " 159
pertect24u.com
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1. Encircle the correct option.

a) If the length of a rectangle is 4 cm and width is 3.4 cm, then its perimeter
will be equal to

)11.4 cm ii)7.4 cm iii) 14.8 cm “iv) 10.8 cm

b) Formula to find the perimeter of the square is:

)4 + L i) 4 — L ii) 4L iv) %

c) The formula to find the perimeter of the rectangle is:
)2(L + W) i)2L + W i) L + 2W iv) L+ W

d) Area of a rectangle is 45m”. If its length is 15 m then its width is:

) 6m PEQ}JW Lopiiydm o o ivSm

e) The formula to find the area of the square is:

)L x L i) 2(L + W) i) L + 2W iv) 4L
f) The formula to find the area of the rectangle is:
. L x W i) 2(L + W) iii) L + 2W iv) 4L
- g) If the perimeter of the rectangle is 34 cm and we increase its length by 2 cm
then there will be a difference of cm in its perimeter.
)2 i) 4 i) 8 V) 6

h) If the length of one side of the square is 14 cm, then its perimeter will
be

)14 cm i) 56 cm iii) 256 cm iv) 28 cm

P e L@ 2EGRSAL
perfect24u.com
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2. Find the perimeter and area of the squares of the given lengths by
using the formula.
a) 8.2 cm b) 2.6 m c)12.8 m d) 7.9 cm
e) 16 cm f)4.3m g)5.7m h) 11 cm

3. Find the perimeter and area of the rectangles of the given Iengths and
widths by using the formula.

a)L=6cm, W=34cm b)L=1.2m.W=U*3m
c)L=10cm, W=13 cm d)L=17 cm, W= 8.5 cm

4. The perimeter of a book is 100 cm. If it's width is 22 cm, find its length.

S. Laiba wants to tile for the floor of her kitchen. If the length of the kitchen is
12 metres and width is 10 metres then:

a) calculatethe arga offthe Kitchen. 1l | O
| 4 U). VOM

b) how many tiles will ‘be required, if Iengt c} each square tile is 2 metres?

6. The length of the fence around a square shaped garden is 24m. Find the
ength of the garden.

7. Daniya took a 42 cm long ribbon and made a rectangle with it.
f the length of the rectangle is 15 cm, then find its width.

8. Find the area of the carromboard whose perimeter is 40 cm.

perfect24u com
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By the end uf thlé unlt ynu wlll be able to:

find and describe average of given quantltles in'the data
solve real life situations mimlwng average
organize the givan data wsing bar graph
read and interpret'a bafgraph giveriin horizontal and vertical form
draw horizontal and vertiéal bar graphis for given data
_solve real life sittiations-using data-presented in bar graphs.

February

Average

4,.*Januar3.r
S— Months

:l-.-|.
‘-'-"‘*-

Umair made a graph of monthly average temperature capital for the
first 5 months of 2020. Is the above graph correct? If not then identify
the mistake and correct it.
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We went to the seaside yesterday. | |

collected 16 seashells. My brother
collected 12 seashells and my sister
| collected 11 seashells. How can we
| divide these seashells equally
among us?

EEEE )
“%
: We will find the total number of seashalls mtla@tad, Add then :

divide the total by the number of persans £ :
- S -~ ——--—:--------------.--=..-----.-_..---.-.—.--ﬂ)I

Sum of the seashells

=16+ 12+ 11
=39
: 39
Number of seashells-each-of us will.get— :—B—
=13

Every person will get 13 seashells. We can say
that 13 is the average of 16, 12 and 11. The
average can be one of the values.

Ftnd the average of
13, 34, 16 and 28.

To find the average of the given quantihea we ﬁnd thﬂ sum of the

“quantities and divide thrs sum by the numbar @fquantﬁms '
| Sum of quantltlas s |
Average = | S S e P TR
Number of quantitess %
== @) sEGRSAILE 153
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The length of 5 ropesis 24 m, 0.9 m, 1.6 m, 4.4 m and 3m
respectively. Find the average length of the ropes.

sum of the lengths

Average =
" number of the ropes
24+09+16+44+3
Average = 5
12.3
Average = =

Average = 246 m
Thus, the average length of the rope is 2.46m

In the annual exams, Ali got an average of 78 marks in 7 subjects.
Find the total marks he got.

Total marks obtained :
Number of subjects :
Total marks obtalned Average marks x number of subjects

v Sy : ; Ik

LFlnd the average uf 11 23 37, 55 and 82

Average marks obtained =

If the sum of quantities is 1,840 and their average is 115, then find the number
of quantities.

sum of quantities

Average = —
number of quantities
- .. sum of quantities == | | o)
Number of quantities = e If th a averag = ﬂf 40
5 1840 quantities is 215, then find
NUMBAF ol quantiiies = 115 =19 the sum of the quantities.
\ ol Tkt

W Divide the students into groups and ask them to measure the height of each of their group
ﬁ? member and find their average height. Also compare their average with the other groups.
h‘iﬂl _

164 MO FEORSALE

Derfect24u’CC
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LFi““’ the number of quantities if their sum is 5,200 and their average is 650.

i
=

PR,
'::.“I'.I-‘-.Lr. I‘{::I‘ 2
: o

Exercise 1 &

1. Find the average of the following.

a)4, 13, 25,32, 42, 52 b) 12kg, 16kg, 26kg, 42kg
c) 10cm, 13cm, 17cm,16¢cm, 19cm d) 5¢, 157, 30¢, 25¢, 40¢

2. Marwa recites 9, 11, 12, 10 and 8 a'yah of The Holy Quran in 5 days
respectively. Find the average number of a'yah she recites in one day.

3. Saad has 16 pencil, Amna has 20, Sara has 15 and Ahmad has 9 pencils.
Find the average number of pencils.

4. The average numbep of sttidents'in 8‘sghdols s?uﬁ% 1,150.
Find the total numberof students.id theséschools-altogethier.
5. On average, Maryam baked 27 cakes a month, for a bakery for 11 months.

Whatis the total number of cakes that she baked in these 11 months?

6. Afactory hired a total of 1,240 labourers in 4 years. Find the average number
of labourers hired in a year.

7. The runs scored by the students of a class in a cricket match are given
below.

Runs

Find the average runs of the students.

- e T
gl =
=

L O EEG) | SSALE

B e T o T e
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Drawing a Bar Graph

e Mark the horizontal line as X-axis and the vertical line as Y-axis.

e \Write the names of the months on the X-axis and the marks obtained
on the Y-axis.

e One square with Y-axis represents 1 mark.

e 8 marks were obtained in September. So, we will colour 8 squares
along the Y-axis.

e Similarly, 6 marks were obtained in October. So, we will colour 6
squares along the Y-axis.

e Complete the bar graph by coloring the number of squares for the
marks obtained in all the months.

e ——
e e S B ) school. For example the favourite subjects of the

> hobbies etc. Ask them to organise this data using bar

S =
=
' e
_— r_' '_1_':'_ J "!'..,l I«."‘- o
A CORF L -

F]
- i
- 1=,
b ey

5|
M

NG 2E OR:SALE
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Marks Obtained

> <

12

Bar Graph of Math test

ie: 1 sguare

= 1 numbe

10

T

—rr—
=

ol

Months

The given table shows the
number of cars of different
colours in a car parking.
Represent this data in a
horizontal bar graph.

= In a bar graDh the width of each bar should _be the saﬁm
« The bar graph given above is a vertical bar
\__ draw a horizontal bar graph. o

$lmitar1y wa ﬂan
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Grey Red

0w | B

® Mark the horlzantal line as X-axis and the vertlcal Ime as Y-axls

« Write the number of cars on the x-axis and the colours of cars on the y-
axis.
e One square with x-axis represents 10 cars.

« Complete the bar graph by coloring the number of squares for the number
of cars of each colour.

Y1 B

Scale: 1 square = 10 cars

Blue
E_'} ]:—* .| | 'I:' ' | e
Z  Black
O
O |
Grey
Red
O X
0 10 20 30 40 50 60 70 80 90

Number of cars

- Record the information about the favorite hﬁbby of your classmates in a
table. Then organize it with the help of horizontal bar graph.

o -.

.: .l'

) RASA L=

®
.Ea'
1
|

A
-:;__b-.
ec
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Huma's garden during five weeks.

We can observe that:

« 6 flowers bloomed during the Y Flower in
first week. T Huma's garden

+ 4 flowers bloomed during the 8 Scale: 1 square = 1 flower
second week.

» 3 flowers bloomed during the
third week.

- 2 flowers bloomed during the
fourth week.

« 7 flowers bloomed during the
fifth week.

» The maximum flowers bloomed
during the fifth week. 0 | > %

*  Minimurmflowers hlgomed™ /~ —7~ Weski Week2 Week 3~Week 4 5 Week 5

during the fourth week. 4. (W) V]

Number of flowers

Let us observe another bar graph and answer the given questions.

2011

2015 :
L >X
0 5000 10000 15000 20000 25000 30000 35000 40000 45000
Fair of shoes
: NG, sFORSALE 169
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i whith year did the factory produce the most pairs of shoes?

2. In which year did the factory produce the fewest pairs of shoes?

3. In which year, the factory made 20,000 pairs of shoes?
4. How many less pairs of shoes were produced in 2011 than in 20157

5. In which 2 years, the difference in the number of shoes in the factory is
10,0007
6. In which 3 years was the total number of shoes in the factory 55,0007

7. How many pairs of shoes did the factory produce in these 5 years?

1. Farwa asked about the favourite fruit of each student in her class.
The details ﬂf the ans’ri&:en are shown in the table. Draw a

1w At e,

AT

2. The statlst;cs of patlents v|5|t|ng a huspltal dunng 5 months IS given below.
Draw a vertical bar graph of the given data.
| Felaruary Mareh | Aprrl - May | June

— — e

3. During a visit to a zoo the children saw different number of animals, the
detall of whlch is given below Draw its vertical bar graph to represent this data.

perfect24u.com
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CCL L0 following table the values of temperature in Lahore during a week of

August, are given. Draw a horizontal bar graph to represent this data.

Days of Mcinclay Tuesday| Wednesday

i Thursday | Friday Saturday | Sunday

| St eSS

b b S VS B U SR 32

5. Study the graph carefully to answer the given questions.

Y

T Transporiation used for going to school Scale: 1 square = 10 sludents

120—+— -

100 —
£ 80
O
O
-
& A
E ED : # 2 i L V¥ 4
é Fie P N -y

=
z 40 |
20— ;
0 | L
Bus Rikshaw Car Motor bike Walk

Transportation used for going to school
a. How many students come to school by car?

b. Is the number of students coming to school on the motorcycle less than
those coming by rikshaw? If yes, then how much less?

¢. Which means of transport do most students use? What is the number of
students coming to school by this means?

d. What is the total number of students coming by car, rikshaw and bus
altogether?

e. Write the number of students coming to school on foot.

J o ) _‘l_'i__q .,__ j\_:i_:-.‘]. _:-1.-::{-.%‘
:E"'E

=l = )

perféété4u.com
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6. Study the graph carefully to answer the given questions

Pet animals Scale: 1 square = 1 student

|

01" 2 3 4 5 6 T 8 9 10

Number of students

a) How many students have acatas a pet'?

b) How ma PE?F dagfataga b J__; I
c) Which is the opularpet? | & 9 Fs

d) In total, how many students have a pet at home?
e) If the total number of students in the class is 35, find out how many
students do not have any pets in their home.

! | Have Learnt «+54

- finding and describing average of given quantities
in the data

- solving real life situations involving average

- organizing the given data using bar graph

+ reading and interpreting a bar graph given in
horizontal and vertical form

~ drawing horizontal and vertical bar graphs for given

~ data

. solving real life situations using data presented in
bar graphs. |

= L
T A it

ﬁ 1! .:.I-r _Il."._l.'.l :
S

perfect24u com

'~ average
' data

- bar graph
" horizontal bar graph

- vertical bar graph



https://www.perfect24u.com/
https://www.perfect24u.com/

4U.COIm

-
"
- -

Review Exercise 3.4

1. Encircle the best option.

a) The average of a number of items can be found by
i) Dividing sum of items by number of items

i) Adding sum of items and number of items
lii) Multiplying sum of items by number of items
liv) Subtracting sum of items from number of items

b) If a student got 19, 21, 22, 24 and 19 marks in different subjects in the
monthly test, his average marks will be

)19 i) 21 lii) 22 iv) 25
c) To find the sum of some values whose average is known ,the following

formula is used
1) sum of items = average of items + number of items

i) sum of items = average of items — number of items

lii) sum of items = average of items x number of ntems

g f ) A1 | CO)AA

number-of itemé =/ » N/ NS RV ]

d) If the sum of some quantities is 600 and the average is 50, then number of
quantities will be

)15 i) 12 i) 10 iv) 5
E) Ahmed jumped 12 time in the first minute, 9 times in the second minute and

15 time in the third minute. What will be the average of number of jumps Ahmed
did in the three minutes.

)9 i) 11 i) 12 iv) 15
2. Alabour earned Rs.1,200 on the first day, Rs.1,000 on the second day,

Rs.1,500 on the third day, Rs.1,300 on the fourth day and Rs.1,200 on the
fifth day. Find out how many rupees he earned on average in these five days?

3. Find the average of six odd numbers from 1 to 11, and also find the
average of six even numbers from 2 to 12.Which of these two average
is greater in value, the even one or odd one?

iiv) sum.of items.=

ey fa— — 4 R o - — —— — —— B - —
: 1 B = 5 C
iy W Lﬂ N | Il‘_ - i e T i ¥ m—— - -

N o e " - - E— = _ e e —— e ———— . . g
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4. A pharmacy earned a profit of Rs.50.000 in the first month, Rs.62,000 in the
second month, Rs.68,000 in the third month, Rs.78,000 in the fourth month

and Rs. 65,000 in the fifth month. Draw a vertical bar graph of the profit of
the company for the five months.

5. Fifth graders were asked to vote for their favourite subjects The following

bar graph shows their responses. Read the graph carefully to answer the
given questions.

* Favourite Subject Scale: 1 square = 1 student

LT [
\

Urdu

4l
English
ol B em
rts

Math

Social Studies

> X
B=1 2 3 4-5 6 7 B 9 10
Number of students

a) A total of how many students choose Science and Mathematics?
b) How many students choose Arts?

¢) How many more students choose Math than science as their favourite
subject?

d) Which subijects are liked by the same number of students and what s their
number?

e) Study the graph to find the total number of students in grade 5.
f) Find the most favourite and the least favourite subject of grade 5 students.

'|' .1 ﬁnﬂ .r

Jerfect24e.ee
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Answers

; Unit 1 Whole Numbers and Operations
Exercise 1
1. a) Two hundred and ninety thousand and fourteen

b) Four hundred and thirty three thousand, four hundred ad fifty-three

c) One million, ten thousand and nine

d) Nine million, eight hundred and seventy-one thousand, six hundred and fifty-three

e) One million, two hundred and fifty-two thousand, one hundred and forty.

f) Two millien, six hundred and eighty-eight thousand adn sixty-one

g) One million, eight hundred and seventy-four thousand, four hundred and fifty-four

h) Six million, four hundred and ninety-five thousand, five hundred and twenty-three

. a) 100000+30000+1000+400+40+1 b) 6000000+000000+00000+0000+900+00+0

c) 4000000+300000+40000+9000+100+80+1 d) 6000000+400000+60000+6000+400+50+6 -
e) 7000000+200000+80000+6000+000+10+9 f) 98000000+400000+70000+3000+300+20+1
g) 8000000+500000+10000+0000+600+00+2 h) 1000000+200000+00000+2000+000+00+1

. a) 8,007,800 b) 278,078 c) 8,608,808 d) 2,007,505 e) 2,006,002

_F’Iice valu_e |
hundred thousand

— e

tens

million L1 CC.OO\/

‘t&n thousand
ten thousand
hundred

| ones

e

||_|_—T

l tens

. a) 1000000+000000+10000+4000+800+20+5
b) One million, fourteen thousand, eight hundred and twenty-five.
¢) 1millions, 0 hundred thousands, 1 ten thousands, 4 thousands, 8 hundreds, 2 tensm 5 ones

. a) 200000+90000+9000+700+90+2
b) Two hundred and ninety-nine thouisand, seven hundred and ninety-two. .

) 2 hundred thousands, 9 ten thousands, 9 thousands, 7 hundreds, 9 tensm, 1 ones
Exercise 2

1. a) 392262 b) 726582 c) 1294656  d) 748786  e) 1377664 f) 1163417
2.3a) 4196 b) 582921 c) 229669 d) 16665 e) 353565 f) 179106
3. Rs 1459813  4.Rs 331455 5.a) 785733  b) 133895 6.555581kg 7.411176
8.Rs 819288 9. a) 886865 b)in2nd year Rs 10875less  10. Rs 214010

- _,__— . - E
b_—'_j J '-1|:.1:,'.F-J e

oerfect24u.com
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ercise 3
1.a) 3810, 38100, 381000 b) 40900, 409000, 4090000 ¢) 975080, 9750900, 97509000
d) 2694720, 26947200, 269472000 e) 8521180, 85211800, 852118000
2 a) 4900, 490, 49 b) 7800, 780, 78 c) 6500, 650, 65
- d) 59700, 5970, 597 e) 21000, 2100, 210
3. a) 14352 b) 221040 c) 1071252 d) 3848607 e) 25357761

f) 38049552 g) 508549986 h) 35978119
4. a) 896 b) 2981 c) 581 d) 981 e) 2839 f) 267 Q) 6710 h)2014 (r6)
5. Rs1254 (r8) 6. Rs 1819988 7. 1142 8. 32256672 9. Rs 897100 10. a)725 b)485

Exercise 4

1. Next three terms Rule
a) 2560, 10240, 40960 Multiplication by 4
b) 22000, 220000, 2200000  Multiplication by 10
c) 44,622 11 Division by 2
d) 1080, 1180, 1280 Adding 100
e) 480, 460, 440 Subtracting 20

3. &) multiplication by 3 b) subtracting 5 c) adding 9 d) division by 2

Review exercise
T E] 3 TR :h‘] '_.gﬂ? : .E}:@&:‘ = : d} 1@00 E) dj_vlsiﬁﬂ

2. a)Eight million, seven hundred and thirty-four thousahd, one hundred,and twenty three
b) Six million, nine hundred and sixty-five thousand, one hundred and twenty-nine

¢) Four million, nine hundred and eighty-two thousand and nine.

d) Nine million, twelve thousand and eleven. .
. a) 268355 b) 120691 c) 820112 d) 387434 e) 632489 f) 327108

. a) 644509 b) 921324 c) 38740 d) 255020 e) 104227 f) 407461
. a) 1507432 b) 6578100 c) 137194650 d) 434695716
. a) 2021 b) 852 (r 64) c) 363 (r 64) d) 28 e) 5858 f) 1003 (r 20)
Next three terms Rule
a) 250, 300, 350 Adding 50
b) 120, 105, 90 Subtracting 15
c) 11250, 56250, 281250 Multiplication by 5
d) 6100,610,61 Division by 10
8. a) 1,10,100,1000 b) 10000,10000,10000,10000  9.Rs 1444397 10. 311332

11. a) Rs 259780 b) 2734140 12. a) 1260 b)8 c) 699300
13. a) Rule: Multiplication by 20 b) Rule: Division by 5

perfect24u.com
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o Unit 2 HCF and LCM

Exercise 1 -
1. 802 b)3 c)14 d)45 e)7 )1 g2 h6 )12 j) 2 KY S 5113

2.a)13 b)25 ¢c)14 d)2 e)a )19 g)16 h)20 )4 )24 K1 113
3.2 4.13 5.8 6. 15

Exercise 2

1.a)21 b)240 c)60 d)80 e)54 f)140 9)300 h)90 i)144 j) 900 k) 19992 1) 4615
2.a)70 b)30 c¢)90 d) 2100 e)147 f)4275 g)96 h)1120 i)1092 j)100 k)42 1) 672
3. 3825cm, 51 pieces 4.6384 5 1:35p.m 6.3850cm 7. After 18 days

Review exercise

1. a) 4 b) 1 C)2x2x2x2 d) 1782 e) product

2.a) 3 b) 10 c) 5 d) 8 e) 2 - f) 2 qQ) 2 h) 3
3.a) 10 b) 15 c) 10 d) 2 e) 1 f)y 2 g) 5 h) 13
4.a) 10 b) 21 c) 40 d) 80 e) 100 f) 1710 g) 1120 h) 66
5 a) 36 b) 77 c) 182 d) 40 e) 168 f) 60 g) 684 h) 210
6

among 7[Kids [ 7. 4) 6% B]‘Z"‘fmeg. s ?’t’gneﬁ i ia @Q 9. 60 stickers
J i\
N’ -’ 1 U
Uhit3 Frac'f'ons
Exercise 1
175 18 9 19 3 g3 6 1
1. a) 1 b) 53~ ©) 4z d) 555 © 335 f) 105 9 "8 h) 18
11 e 19 23 - 19
2. a) 1% b) 1%- c) 2z, d) &2 € 35 f) 30 g 22 p 413
15 . | 1 3 1
3. 3‘24 . 4. a)inmath1 ;.i_h more b) 3—4 ™ =~ Ba) 2@”‘ b) 15§m
Exercise 2
1. a) 6 ) 3 c) 24 ) 3 e) 31 f) gl
9 7 3 2
1 1 1 29 24 &
2. 8) b) 7 © 6z 9 350 © 328 ) 28
4 39 . 22
g) 147 h) 41tz D) 51755
1 3 “ 89 350 37
a8 13 b F °) 21 9 326 ° &1 D gp
' :
a) 5_;. h) 7% i) 515 4, 38-% 5. 4 6.312
" = 82 3
7. a) 3;3m b 23gg™m 8. o 9.a) 10 b) 39 4

perfect24u.com
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Review exercise

1. a)ﬂ- b) % 6 1 d) (iv) e) addition and multiplication

13 23 3 2 1 4 n B

20
41 15,9 A, 1 k)
3. 99 4,9 5.4z .6 2zl T.77kg - 8.66h 9.75m 10. 1M

Unit 4 Decimals and Percentage

Exercise 1

1.a) < b) < ¢) < d< e = f) < g)> h)y< 1) =

2. a) 3.81,3.31,3.01,251,247 b) 4.68,432431,4230.31 ¢) 6.77,6.60,6.33,6.31,6.21
d) 1.66, 1.62, 1.61, 1.6, 1.03

3.8)7.2, 9.4, 10.8, 12.4, 18.2 b) 8.05, 8.06, 8.5, 8.51, 8.52, 8.56
c) 3.04, 3.14, 3.4, 3.45, 3.54, 3.55 d) 9.05, 9.09, 9.45, 9.5, 9.52, 9.55

Exercise 2

1. a) 12431 b) 5071 ¢ 92231 d) 77461 ) 52047 f) 8255
g) 10.892 'h} 5.07 ) 4772 §) 23071 k) 35448 ) 7235

2. a) 7.018 8.59 ©) 0.862 d) 4.079 e) 0.71 fy 2477
g) 5.245 SE 5:% L (o 9’11 [ /lokrd (% (1B9]\ /1n 044

3. Rs162.62 e do st 5 7t S

7. a) 79.05g b) In cake 22.05g more

Exgrcise 3

1. a) 15.9 b) 248 c) 4370 d) 543 e) 303 f) 3060
g) 354 h) 87.3 ) 310.3 i) 47.2 k) 3420 ) 244

2. a) 439.52 b) 20.52 c) 166.94 d) 63.72 e) 246 f) 126.27
g) 223.39 h) 244 i) 89.06 j) 100.87 k) 107.5 ) 355.18

3. a) 134 b) 6.486 c) 310788 d) 184605 e) 13.3532 f) 13.5256

g) 12.6238 h) 7.7792 i) 65278 j) 206016 k) 222662 |) 37.8852
4. 2412.5km 5. a)2585m b)2550m ¢) 25500m 6. 50.76kg 7.Rs 3633

Exercise 4

1. a) 4.18 b) 0.0459 c) 000548 d) 00643 e) 0414 f) 0.00617
g) 0.0243 h) 7.14 i) 0.0424

2. a) 1.7 b) 1.91 c) 1.01 d) 0.04 e) 1.22 )y 17
g) 20.15 h) 0.455 ). 332

3.a) 1825 b) 22 ¢) 23 d) 08 e 21 f) 27 g) 35 h)9s2 i 84

4.075kg 5. a)15bottles  b)27 bottles
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Exercise 5

1. a) 225 b) 076 c) 0.175 d) 0.33 e) 12125 f) 975 g) 1.36
h) 0.4 i) 34375 j) 23 K} 1.6 ) 1.8

2. 0.125

Exercise 6

1.a) 47.1,47.13 b) 47,473 ©) 2.3,232 d) 09,094 e) 457,4568 f) 2.2 2.15

0) 91.5,91.55 h) 94.2,9417 i) 52,518 ) 3.8,377 k) 42,417 ) 90.3,90.27
2. a) 70.88 b) 911.0 ) 77.88  d) 6648 e) 7713 f) 1242.0
g) 89.72 h) 10440 i) 18790  j) 17782 k) 691.2 ) 1459.0
3. a) 4.31 b) 9.81 ¢) 497  d) 748  e) 2667 f) 1102
g) 248.4 h) 242.6 ) 27.63 i) 50265 k) 14 ) 2.039
Exercise 7
1. a) 4% b) 35% c) 76% d) 12% e 28%  f) 47%
g) 45% ﬁlﬁﬁ% D) BM ]f *56% | % Eiﬂ
2 A DAE i Do 5 i o5 Mgy TR

~

. 8)015 b)0.26 c)047 d)052 e)063 f) 0.74 g) 085 h)0.96 i) 0.17 |) 0.18

3

4. a)10% b) 40% c) 40% d) 38% e)15% f) 42% 9)20% h)35% i) 90% ) 24%
5. 6% 14% 23% 34% 43% 55% 63% ° 71% 98% 30%
6

. 73% 7.a)2  b)38 8.9 9.012, 3 10, 0.6 60%, —3-
Review exercise
a) 0 b) right c) % d) 108 e) 100
2. a)< b) > c) < d) > g) = f) <
3. 2) 14.245 b) 26.593 C) 94.48 d) 99.69 e) 64.688 f) 31.721
g) 61.6 h) 3.28 ) 3.42 i) 20919 k) 4.569 ) 14.149
4. Rs46.21 5. a) 73.2m D) In 2nd roll 40.44m more
6. a)29pieces b)18m
N OLEORISAEe—— . 0 e

per ect24u.com


https://www.perfect24u.com/
https://www.perfect24u.com/

fect?24u.com

y a) 328.5 b) 439 c) 5980 dy 13734 e) 178.02 f) 46.605
g) 161.007 h) 10.6653 i) 252756 ) 0.826 k) 2.4 ) 1.684

8. a) 65.919 b) 78.0 c) 1001.0 d) 389 e) 83.0 f) 409.6

9. a) 22,223 b) 32,317 «c) 54,537 d) 95,952

10. 5 i BT

Percentage !Declmat Fractions

—— &

| 21
a) 42% 0.42 50
1 | 82
82% i 0.82 100
il =
28% 0.28 255
65
65% 100
25
25% 700
W 8
11. 0.72,72%, E 12. a) 8 b) 24 13. a)12  b) 04, 55
it S Dlstlncn and Tlrm
Exercise 1 PE i n,ilj L' ' |
1.a) 34000m b) 74930m ﬂ) U.Q?Rm d) 5km890m €) 6700cm f) 65046cm
g) 8.4m h) 1070mm i) 996mm  J) 7cm k) 48cmb5mm 1) 90000cm
2. 1114cm 3. 1400mm 4. a)62cm 7mm b)985mm 5. 966 m 18 cm
6. Ahmer's home is neaerer to ali's home by 1km102m. 7.1097m
Exercise 2 |
1. a) 2700min b) 14456min ¢) 16N d) 7h20min e) 3840sec f) 10800sec
g) 9mindsec h) 10min
2. a)672months b)418 months  ¢) 4 years 4) 4 years 8 months  e) 546 days
f)90days g) 7 weeks h) 6 months i) 2010 days ) 13490 days
Exercise 3
1. a) 9h3min b) 28min 31sec c) 74 years 7 months d) 10 weeks 4 days e) 124 months
f) 10 months 26 days
5 a) 12h 56min b) 8min28sec c)5weeksS5days d)6 months18 days
e) 2 months 11 days
- B | . NO=ESRISAL

erfect24.com
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3. 12h 18min 4. 6 days more in first project 5. 15 months

6. a)5h 2min b) 1h 22min in maths

Review exercise

1. @) 2000 b) time C) 6 d) 300 e) 300 f) 49
2. &) 52000m b) 21103m C) 1.05km d) Bkm e) 19800cm f) 50066cm

g) 6.4m h) 980mm
3. a) 1386min b) 6h ) Sh 40min d) 3840sec e) 13min15sec f) 3.3min

4. a) 936 months b) 174 months c) 2 years 2 months d) 65 days e) 5 weeks
f) 14 months

5. a)16h4min  b) 57min 56sec C) 89 years 4 months  d) 21min 25sec e) 18 weeks 3 days

f) 104 months 19 days g) 10 months 27 days h)4 weeks 6 days
6. 2)27m 55cm b)2m 71cm

7. a) First shirt 1h 24 min more b) 6h 6min

s (Unidy Medlol | (5O \/]

Exercise 1

1. Rs 1976 2. Rs 935 3. Rs 2627 4 315kg

5. 37 . 6. Rs45 7. stzm. 8. Rs 145
Exercise 2

1. 7350 2. Rs 1010041 3. 13.2kg 4. 5310km
5. Rs 14528020 6. Rs 1680 7. Rs 81250

Review exercise
1. a) Rs 1250 b) Rs 3255 c) 5550 d) Rs 576 €) Rs 3440

2. Rs 6600 3. Rs 1500 4. a) 10625 D) 42500

9. a)Rs 443832 b) Rs 184930

ey
1

N R R S AL E e qgg

perfecf24u.com
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Unit 7 Geometry
Exercise 1

1. a)right angle b) Reflex angle ¢) straight angle d) acute angle e) obtuse angle
3. Z1and £2, £2 and £3, £3 and Z4, 24 and £1

4. a) 82’ b) 0° c) 65° d) 177° e) 102° f) 45° g) 90"
5. a).7¢8 b) 2° c) 0 d) 80" e) 28° f) 50° g) 20°

Exercise 2
1. a) Scalene triangle  b) Isosceles triangle c) equilateral triangle d) Isosceles triangle

2. a)acute-angled triangle b) Obtuse angled triangle
c) acute angled triangle d) right angled triangle

Exercise 4
1. a,b,d, e, f. h

2. a) 2 d 4 e) 4 g) 4
Exercise 5

PEREEGT2WICOM

3

a)

b) 6 square |3 triangular faces

faces 1 square face 6 rectangular aces

2: a6
3. a)cuboid b) pyramid c) cube d) pyramid e) cuboid

Review exercise
1. a) 215° b) 160°  c¢)straightangle d) 180° e€) iii
hy 2 i) i

3-8, 10. b, c, d 11. a) 4 b)) 2 d) 4

Unit 8 Perimeter and Area
Exercise 1
1. a)28m b) 52em ¢€) 16m 2. a) 28cm b) 22m

3. 116m 4. 18cm

-

= =l e
e D
T.|..':'."I l;-:‘!'-' .]""r. -

perfect24u.com
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5. &) 20cm b) 48cm C) 24m d) 76cm e) 104m f) 10cm

g) 38.8m h) 60m 1) 66.4cm j) 40m K) 28.4cm 1) 10.8em
6. a) 10cm b) 15m c) 20cm d) 20.4m e) 31.8m f) 54cm
7. 48m 8. 10m 9. 39.2m 10. a)40cm b)Rs 200

11 a)449m b)Rs 211030

Exercise 2

1. @) 625m'  b) 484cm’  c) 1823.29m’

2. a) 13.5cm’ b) 12m’ c) 10m’

3. 32m’ .

4. a) 20.25m" b) 86.49cm® c¢) 77.44m’ d) 225cm’ e) 169%cm* f) 9m’
g) 36m’ h) .8.41m° ) 25cm’ j) 84.64m* k) 196m’ ) 1.21cm’
. a) 9.5cm’ b) 12m° C) 24cm’ d) 35cm’ e) 94.5cm* f) 340m*

5
6. 13176m’

7. a) 85m b) Rs5376.25
8

9

. a) 726m b) Rs7573500

. 1920m’ "D N‘_'“‘FA’4E (\Q ‘/!
! J ! ‘_ wj: J ﬂ“

Review exercise :
1. a) 148cm  b) 4L c) 2L+W)  d) 3m e) LxL ) LxW
g) 4cm h) 56 cm

Area (cm’/m®)| Perimeter (cm/m)

67.24 32.8

. B6.76 10.4

163.84 51.2

62.41 31.6

256 64

18.49

32.49

121

-

NG, _EOR:SALE 483

i
e oy W
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Perimeter (cm/m)

18.8

0.36 3

130 46

144.5 S

5. a)120m*  b) 30 6. 6m 7. 6cm 8. 100cm’

Unit 9 Data Handling
Exercise 1

1. a) 28 b) 24 kg c) 15 em d) 23¢

2. 10 3.15 4, 20700 B, 297 6. 310 7.38.85

wPERFECT24U.COM

5. a) 70 yes, 40 c) Bus, 100 230 e) B0

6. a 9 , c) cat d) 28 e) 7

Review exercise
4:--8) 4 b) ii c) il d) i
2. Rs 1240 3. 6, 7 Even numbers have greater average

5. a) 14 b) 10 c) 2 d) 6, English and Science

f) Most favourite: Arts
Least favourite: Sacial Studies

— -
o s gl Sy 'I-‘"
LI =, o o

14.' A
DE ecf24u com
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Glossary

Acute angled-triangle: A triangle in which all angles are acute. is called an acute angled

triangle.
Adjacent angles: Two angles will be called adjacent angles, if they have a common vertex

and acommon arm.
Area: The space covered by the surface of any two dimensional shape, is called its area.
Average: To find the average of the given quantities, we find the sum of quantities and then

divide this sum by the number of quantities.

Complementary angles: Two angles will be called complementary angles if their sum is
90°.

Degree: The unit to measure angle is degree™". |

Equilateral triangle: A triangle in which all the three sides are equal is called an equilateral

triangle. Every angle of an equilateral triangle is equalto 60°. _
Expanded form: Writing a number as the sum of the place value of its digits is called its

expanded form.
HCF: The greatest number which divides 2 or more numbers simultaneously is called their

HCF. et AT e R DS e
LCM: The LCM.of two or.more.numbers is the smallgst riurraaeriuhiglﬁ divides each of the

given number completely.
Net: Anetis a two dimensional shape which can be foldedin a specific pattern to get a three

dimensional solid.
Obtuse angle triangle: A triangle in which one angle is obtuse is called an obtuse angle

triangle.

Percentage: Percentage is a special kind of fraction whose denominator is always 100.
Perimeter: The total length of the boundary of a closed region is called its perimeter.
Reflective Symmetry: The shapes whose two halves are the mirror Image of each other,

have reflective symmetry in them. .
Rotational symmetry: A figure will have rotational symmetry if it is rotated around a center

pointand looks exactly the same at least two times during the full rotation
Rule of anumber Pattern: The rule of a number pattern tells us how the next numberin the

pattern is obtained.

Scalene triangle: Atriangle in which no side is equal is called a scalene triangle.
Straight angle: An angle, measuring exaclly 180" is called straight angle.
Supplementary angles: Two angles will be will be called supplementary angles if their

sumis equal fo 180°.

NG FORSALE 185

pertect24u
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Appendix

LCM = product of common prime factors x product of non-common prime factors

Perimeter of a square = 4 x length of one side

Perimeter of rectangle: 2 x (Length + Width)

Area of PJE=R¥< E@ T '_?" f : ! j 5

Area of rectangle = Length x width

| Sum of quantities
Average =

Number of quantities

perfect24u.com
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1. | Overall the book is interesting and user friendly.

2. | The Iar;guagé and content of the bock is age / grade
appropriate and the content is free of grammatical and

punctuation errors.

3. | Content is supported with examples from real life / culture.

4. | Contents / texts are authentic and updated.

5. | Pictures / diagrams / graphs / illustrations are informative,

relevant and clear if not, then identify them.

6. | Activities, projects and additional work is suggested for |

reinfq,rcgmﬁnt of gqncgg;g.
b | : - .L—-—l_-li E
7. | Assessment a acl*y'emenﬁnts are Ehuughta prgﬁ’ﬂw nd,
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' 8. | The textbook is easy to be covered within academic year.
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